

# THE PUBLIC SCHOOLS IN 1957

By E. M. WELLINGS

After years of complaint about the unworthy standard of Public Schools fielding the 1957 season at last gave us solid reason to applaud the boys in that vital branch of the game. Not only were there outstanding individuals in the representative matches at Lord's, but the general level was appreciably higher than in previous seasons. Moreover the reports which arrived from cricket masters about their individual school teams were more than

usually concerned with fielding.

The improvement was general; ground fielding, catching and throwing which in many recent representative games has been wild enough to exhaust the good temper of the most placid wicket-keeper. For six years Surrey have been winning the County Championship primarily by deadly fielding in support of their magnificent attack. With a certain time lag Public Schools cricket follows the trends in county cricket. And now, when surely the fielding standard in the county game is higher than ever, the boys.

have profited from the men's example.

The first boy mentioned this year, then, shall be G. Atkins of Dr. Challoner's Grammar School, for on the four days of the representative games he never failed to impress on all his skill as a fielder. Atkins arrived at Lord's well recommended by the runs he had scored for the Club Cricket Conference against M.C.C. He was anything but a disappointment as a left-handed batsman, but he made a much more lasting impression by his brilliant fielding at cover. If Atkins set the standard the others followed him ably, and not all the fielding skill was concentrated among the eleven who were chosen against Combined Services. P. J. Kippax (Bedford Modern) was a reserve who fielded particularly well in the first of the two matches. If he had extended either of his two highly promising innings as an opening batsman by a few runs, he must have won selection for the second game.

Not only in fielding but in bowling also, recent trends in county cricket left their mark on schoolboy cricket. It is not so long ago that the emphasis in English first-class cricket was placed on pace bowling, following the successes against England of Lindwall, Miller and Johnston. The result has been the fast bowling era of Trueman, Statham, Tyson, Loader, Moss and others. Allowing for the time-lag it was, then, not surprising that the leading school bowlers of 1957 were almost exclusively those of

some pace who used the new ball.

There was little spin bowling of class in the sides for the Lord's games. But reports from the schools frequently mentioned promising spinners of ages qualifying them still for the Under 16.

Colts teams. The influence of Lock, Laker and Wardle has reached the younger boys and we may expect a change of bowling emphasis among the selected boys at Lord's in the next year or two.

In the absence of spin it was not surprising that, for once, the batting was clearly superior to the bowling. It was a good year for school batting despite the road accident early in June that put H. C. Blofeld (Eton) out of the game for the rest of the term. Until that event Blofeld was most people's bet as the best schoolboy batsman of the year, and his loss was a grave misfortune not only to Eton.

Happily there were worthy players to offer themselves as candidates for top position in his stead. The two most prominent were C. D. Drybrough, a games player and athlete of wide interests and ability from Highgate, and D. Kirby of St. Peter's, York. Drybrough did most of his good things in the first of the two games at Lord's. His 128, starting when the Southern Schools were 15 for three, was a magnificent piece of sensibly aggressive cricket. By the time he had driven the bowlers of The Rest straight and hard while advancing to 50 in no more than sixty-five minutes the game was turned. If he was stronger on the front foot than the back, Drybrough looked a most excellent school batsman. He had the same aggressive attitude towards batting as did E. R. Dexter while a schoolboy, and he may well develop in the same successful way.

Kirby was a consistently good scorer during the four days. His most attractive stroke was the cover drive, and generally he played in a manner to make comparison between him and Drybrough invidious. Together they may have been the leaders, but they did not leave their fellows far behind. At the youthful age of 16 the Nawab of Pataudi, having spent the term scoring freely for Winchester, made an immediate mark at Lord's, where there was just time at the end of the second day for him to play himself into the representative XI. He had failed in the first innings, and if his second had started half an hour later he might not have been given the chance to play his splendid innings of 71 against Combined Services.

At one time only County Championship matches were arranged so that stumps could be drawn on the last day at 6 p.m., the final half-hour until 6.30 being used only if necessary to obtain a result. Of late years the practice has spread to all manner of matches, in which the players are not similarly pressed for time in the catching of trains to their next playing engagement. It is with some indignation, having probably been deprived of some good cricket, that I ask why the practice has been extended quite unnecessarily to a School trial game at Lord's, in which the result has no significance. That the game started on the second day at 11 a.m. is no argument in favour of stopping half an hour early on a

perfect summer's evening, when spectators and batsman alike were enjoying Pataudi's innings. He himself at 27 not out looked appealingly at his team's balcony in the vain hope that someone would decide that the final half-hour was necessary.

A two-day game is all too short to sift the material before choosing the representative side. To sacrifice half an hour needlessly may be unfair to the boys. Two members of the side whose fielding on this occasion was thus cut short have particular cause for complaint. A. W. M. Bain (Fettes) accordingly bowled only nine overs in the match and M. K. S. Shatrushalyasinhji only eight. As the latter, a nephew of K. S. Duleepsinhji, came to Lord's as an all-rounder and had no reasonable time for batting in either innings he must have felt that the trial game was much too short.

Having played in two Oxford sides with his father, I was asked how the present holder of the title compared with the first cricketing Nawab of Pataudi. Except that they both were endowed with natural talent and ball sense they are not comparable. The father was physically frail and was essentially a batsman of finesse rather than force, though he was also a fast scorer. His son is built more strongly, and if he shows the delicate touch of his father in the cut strokes, which he plays with obvious relish, he is clearly a more robust batsman. As yet his bat is not so straight as his father's and he takes more chances. In August he played three times for Sussex promisingly, and reports from Hove of his good fielding were particularly pleasing.

Although J. R. Bernard (Clifton) failed in the trial game after an earlier triumph at Lord's against Tonbridge, there were three strong batting candidates for the two opening positions, R. A. C. Luckin (Felsted), Kippax and G. J. Sharman (Lancing). Kippax was perhaps the one who appeared to promise most, and he was the most vigorous batsman of the three. He was also the one who had to be omitted, for the other two scored more heavily. The soundness of Luckin and the undaunted patience of Sharman gained the positions.

At the time I recall muttering unkind things whilst Sharman was taking nearly an hour to reach double figures. But Sharman had his place and his role among the more eager stroke-making batsmen. He himself was a reluctant stroke-maker and largely concealed his ability in that direction, but he was wonderfully patient and watchful. With Atkins the Schools had already six batsmen, and all-rounders considerably extended their batting.

Their stumper, H. S. Cook (Warwick), won his place from I. P. Morton, a neat wicket-keeper from Christ's Hospital, mainly on his superior batting. He was the second player of the same name from Warwick in recent years to represent the Public Schools. Like the earlier one, who was largely a bowler, H. S. Cook batted left-handed. He had the left-hander's typical strokes past cover

and to leg, where he was particularly strong, and he scored heavily in both the games at Lord's. Bowlers A. T. C. Allom (Charterhouse) and D. M. Green (Manchester Grammar School) were also batsmen of considerable merit and value.

Of the batsmen who did not win selection against the Services Kippax, who has been already mentioned, and A. R. Day of Aldenham looked the best. Day was miserably unlucky in being run out in his first innings through no fault of his own. In the second innings he was among the first four southerners who fell for 47 on a fast and fiery pitch to some equally fiery bowling.

That pitch was not unlike the one on which the Second Test match two months earlier had come to a distressingly early finish. It knocked up badly on the second day to give the pace bowlers a tremendous advantage. If M.C.C. wish to encourage boy cricketers to bowl spinners, they will not do so by giving them pitches of that sort.

The Rest had just the bowlers for those conditions, and the Southern batsmen were fiercely assailed. C. D. R. Barker (The King's School, Macclesfield) brought the ball round their ribs, and H. G. Owen-Hughes (Shrewsbury) mowed them down at the other end. Owen-Hughes was one of those unusual players who bowl off the wrong foot and whose peculiar action inevitably produces leg cut. On that very responsive pitch he was bowling fast leg-breaks, and until he and Barker began to tire the Southern batsmen were in sore trouble.

In the event Barker was not in the final XI, though he was in the dozen from whom that side was chosen on the morning of the match. I would have been reluctant to leave him out, but in addition to Owen-Hughes both Allom and I. C. Potter (King's School, Canterbury) staked strong claims to inclusion. Potter was the steadiest of the four as well as being the smallest. The others were all tall. Allom was only two inches short of seven feet. He bowled at medium pace, a lively medium, and from his vast height made the ball bounce awkwardly. He may be said to have overcome the disadvantage of excessive height by keeping his pace down. Like Pataudi, Allom is the son of a distinguished father. M. J. C. Allom was one of the best medium-fast bowlers between the wars and bowled for England in Test cricket.

Barker also made good use of his height, and if he was mainly an inswing bowler he showed himself to be a decidedly good one of his type. Taken together the pace bowlers were more than adequate and toiled hard to cover the shortage of good spin. Potentially the best spinner was Drybrough, for he was a left-hander with considerable ability to impart spin, but as yet his bowling lacked variety. The attack was completed in its main ingredients by Green, who had established himself as the pick of the off-spinners.

In a year when the spin was so moderate it was perhaps surprising that A. W. Allen, who had a highly successful season as a slow left-hander at Repton, was not tried at Lord's. But selection of these sides is an uncommonly difficult task and must depend largely on recommendations from the schools. The great need is a preliminary trial, from which, say, the dozen most obvious selections for the Southern Schools v. The Rest match would be excluded. This could be done by cutting out some of the inter-schools matches at Lord's. Though writing as an old boy of a school which would lose its match at Lord's, I must confess to seeing no good reason for any inter-schools match being played there except Eton v. Harrow. I believe that Public Schools cricket would benefit from having more representative and less inter-schools cricket on show.

Two of the best sides of the year were among those who played at Lord's, Clifton with success but Haileybury arriving only to suffer a surprise defeat by Cheltenham. After a depressing start to the season Clifton rallied to become one of the schools' best teams—and a fine fielding one—and played their last ten matches without defeat. For Cheltenham, playing above themselves, the win at Lord's was compensation for disappointing displays in other inter-schools matches. For Haileybury it was anti-climax at the end of a season which had marked them as being among the leaders of Public School cricket. Yet, even in defeat they shaped in the manner of cricketers entitled to success and continually looked worth more than they actually achieved at Lord's.

Of all the year's team performances the best was perhaps that of Winchester. Although they began the season with only two old Colours and habitually meet stronger opposition than the majority, they were unbeaten for the second year running. The Nawab of Pataudi's 851 runs at an average of 65.47 was among the best two or three batting performances on paper at any of the bigger schools. It stood with Drybrough's 706 at 78.44 for Highgate. The next best average at Highgate was only 17.4 and the second aggregate merely 273. As Drybrough's 32 wickets were also the school's highest total his tremendous influence on his team's cricket was obvious.

In the West, Downside, who suffered their only defeat and that by a very narrow margin in the final match, rivalled Clifton. With three bowlers aged 15 taking 103 out of 123 wickets they could contemplate the future with more relish than most. The leading side in the north would seem to have been St. Peter's, York. They, too, with Kirby heading the batsmen, lost only once and won seven of the other 13 games. If Winchester are given first position among the powerful group of Southern Schools, they had obvious rivals in Charterhouse and Haileybury. King's, Canterbury, were another strong and successful side. Eton's

season was disrupted by Blofeld's misfortune, and Harrow were no more than an ordinary side worried by slender bowling resources.

Douai went through 1957 unbeaten, and there were others beaten only once, but several of them drew an excessive number of their games even making allowance for ill luck with the weather. Repton were among the single losers. They drew 11 out of 18 games. Radley drew 9 of 15, Rossall 7 of 11, and Malvern also lost only once but drew often.

In East Anglia, Leys began, like Winchester, with only two old Colours and yet developed their players so well that they won six inter-schools matches. They must be counted among the team successes of the summer, and it is clear that there were a number of good sides. It was clear, too, that attention paid to fielding

played a notable part in their development.

Every school season produces remarkable individual performances when set against the modest deeds of others in the same sides. The year 1957 was no exception. A. H. Jinnah dominated Epsom cricket in the manner of Drybrough at Highgate with 590 runs for an average of 65.56 and 38 wickets at 10.57 runs each. At Aldenham, Day's average of 49.4 against a next best of 20.87 is support for the impression that he was a player good enough to make a big impression at Lord's with reasonable luck. Kippax had similar success at Bedford Modern, where his 49.5 average was nearly twice as good as that of his nearest rival. Bedford Modern's season was also notable for J. S. Orpin taking 25 wickets at 11.8, for he was only 14 and one of a considerable number of very young left-arm spinners who did well during the summer.

R. M. Prideaux (Tonbridge) was another who dominated his side's batting with an average twice as large as the next one. Even more so did G. Neil-Dwyer prop up the Ruthin batting. His 593 runs gave him an average of 53.9, while none of the others was

able to reach 20 an innings.

The heavy scoring of the first four Lancing batsmen, whose total was 2,449, recalls similar scoring at Radley when E. R. Dexter and A. C. Walton were their leading batsmen. No round-up of the season would be complete without mention of a tremendous partnership at Bloxham. Playing against the XL Club, D. N. Adey and C. C. W. Rodgers put on 287 together. And finally there was M. G. Waller's 59 wickets at under 11 runs each for Uppingham. As that is the greatest number ever taken for the School it is a good item on which to end discussion of a decidedly encouraging season.

Following are the destinations of some of the members of last year's XIs:-

	OXFORD	CAMBRIDGE
Blundells	R. A. W. Sharpe	
Bradford G.S	J. P. Bayley	
	J. M. Hewitt	
Bristol G.S	R. J. Short	
	R. C. Tanner	
Bryanston	M. F. J. Checksfield	J. R. Brock
		J. E. Goldsmith
- 1 1		D. M. Ladd
Cheltenham	I D Mantan	A. F. Benke
Christ's Hospital	I. P. Morton	
C'u of Landon	N. P. Thompson	G. B. Green
City of London		R. I. Ireland
Dean Close		R. L. Johns
Downside		
Eton	J. D. Ayer	P. A. Kavanagh H. C. Blofeld
Eton	o. D. Hjoi	E. J. Lane-Fox
Felstead		A. T. P. Higgins
Tubicad		R. A. G. Luckin
Fettes		R. J. B. Hoare
Highgate	C. D. Drybrough	C. J. S. Garner
mgg	M. H. Wadsworth	
Kingswood		R. G. J. Hopkins
Lancing	G. J. Sharman	
Leeds G.S		J. D. Brooke
Leys		D. S. Bousfield
Marlborough	B. A. C. Marr	C. A. Morris
Merchiston		J. M. Boyle
Millfield		T. L. de. Z. Adihetty
Monkton Combe	I. H. Glasgow	C. P. C. Hunt
2 "	21 25 00 1	N. B. Matthewson
Oundle	N. M. Stephens	J. H. Minney P. B. Reddaway
D. 11	T W Markill	P. B. Reddaway
Radley	T. W. Morkill P. J. Mackeown	
Panton	P. J. Włackeowii	P. H. Vaughan
Repton	G. M. Attenborough	M. J. Reece
Rugby	G. M. Attendorough	P. R. Colville
August		T. B. L. Coghlan
Ruthin		G. Neil-Dwyer
St. Paul's	A. N. Sperryn	
St. Peter's		D. Kirby
Sedbergh	C. G. Midgley	M. R. Grundy
		J. R. Miller
Shrewsbury	H. G. Owen-Hughes	
Stamford		J. B. Bayley
Stonyhurst	C. P. Cheetham	n n
Tonbridge		R. M. Prideaux
Irinity College	J. L. MacDonald	D. H. MacPherson
Irinity School	DIDI D	S. E. Reid
Victoria	P. J. B. le Brocq	N Tabal
Wellingborough		N. Iqbal D. Mills
Whitgift	Nameh of Potond:	D. Willis
Winchester	Nawab of Pataudi	
Holcester R.G.S	C. G. Clarke A. P. Mobbs	
Wrokin	N. H. Granfall	

Wrekin ..... N. H. Grenfell

# THE SCHOOLS

\* Signifies not out.

† Indicates captain.

#### ALDENHAM SCHOOL

Although an inexperienced side, Aldenham had a successful season against other schools. They had wins against Highgate, Beaumont and Mill Hill to set against defeats by Felsted and Merchant Taylor's. Their captain, A. R. Day, enjoyed a particularly good season and repeatedly carried his side.

Played 12, 1	Von 5.	Lost 3.	Drawn 4
--------------	--------	---------	---------

Batting									
	Innings	N	ot out	ts	Runs	Hig	hest in	ns.	Average
†A. R. Day	. 12		2		494		94*		49.40
A. Dey	. 11		3		167		42		20.87
J. D. Hughes			1		213		50		19.36
D. R. Barker	. 11		2		154		40*		17.11
B. C. Wharton			1		119		81		17.00
R. E. Harris			0		196		61		16.33
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets	3	Average
J. J. Irwin	. 123.5		25		319		21		15.19
Z. H. Hidayatallah	. 96.3		4		355		19		18.68
D. R. Barker			29		386		20		19.30
A. R. Day			33		333		11		30.27

#### ALLEYN'S SCHOOL

#### Played 16, Won 5, Lost 3, Drawn 8

Batting  †M. J. Edwards R. F. Dorey I. N. Trafford	14	2	339 268	Highest inns 95 48*	Average 33.90 22.33 23.08
Bowling	Overs	Maidens	Runs	Wickets	Average

	Overs Maidens .				Runs	1	Vicket	Average	
R. Devo	52.5		21		105		16		6.56
R I Coulson	123		38		266		23		11.56
R. F. Dorey	110.4		36		278		24		11.58

#### ALLHALLOWS SCHOOL

The season at Allhallows was interrupted by a period of quarantine at a time when the team was developing promisingly. The batting generally was thin and the bowling more steady than dangerous. Palmer, the captain, and Rowe were splendid all-rounders.

#### Played 10, Won 5, Lost 4, Drawn 1

P. G. Rowe	10	Not outs 0 1 0 1	Runs 292 203 222 113	Highest inns	Average 29.20 22.55 22.20 14.12
Bowling	Overs	Maidens	Runs	Wickets	Average
N. P. Jenney P. N. G. Murdoch	91 103	20	249 307	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	9.96 13.95
P. G. Rowe	73 51	15	202 236	14	14.42 18.15

#### AMPLEFORTH COLLEGE

At their best Ampleforth were a strong side. The bowling was always good, particularly the left-arm spinners of R. Lorimer, but the batsmen, with the exception of Morris, were unreliable. The side started badly as fielders but reached a high standard before the end of the term, and W. Sparling was outstandingly good.

## Played 14, Won 5, Lost 4, Drawn 5

†B. J. Morris P. Chambers M. A. King R. Lorimer A. King	. 13 . 14 . 11	Not ou 2 2 2 4 0	:: :: ::	Runs 388 269 279 161 194	High	60 71* 50 44* 32	ins.	Average 32.33 24.45 23.25 23.00 13.85
Bowling H. Lorimer R. Lorimer Master of Lovat D. H. Glynn A. R. Iveson	. 178.3 . 147.2 . 140.4	Maide 16 43 43 43	ns	Runs 81 509 388 335 381	 	Vickets 11 44 22 15 16	· · · · · · · · · · · · · · · · · · ·	Average 7.36 11.56 17.63 22.33 23.81

#### ARDINGLY COLLEGE

#### Played 13, Won 7, Lost 4, Drawn 2

R. W. Joyce J. D. Gurney J. R. Rivers R. A. Perrin	ings Not outs 13 . 3 12 . 6 13 . 0 13 . 1	Runs H 327 . 186 . 337 . 268 . 252 .	Highest inns	Average 32.70 31.00 25.92 22.33 19.37
P. J. Lane 1	vers Maidens 28.2 26 40.5 23	Runs 334 417	21	Average 11.92 13.45

#### BANCROFT'S SCHOOL

During a particularly successful season Bancroft's lost only one inter-schools match, against St. Dunstan's.

Played 15, Won 7, Lost 2, Drawn 6

Batting	Innings	NI	ot out	t o	Runs	Hiol	nest in	ns.	Average
	mmings	TAG	ot our	13		1115			
†A. G. Meredith	15		0		413		74		27.53
			1				61		22.28
G. L. Rice	15		. 1	,	312				
	14		5		191		39*		21.22
C. F. Barrow			5						
A. R. Thompson	15		3		218		66*		18.16
			2		106		39		15.14
R. S. Furniss	9		4						
E. J. Smith	15		0		218		53		14.53
			1		104		53*		13.00
J. D. Hoskin	9		1						
	13		2		143		30		13.00
M. Robinson	13		-						
D									
Bowling					D	**	Vickets		Average
	Overs	M	aiden	S	Runs	V			
OID:	143.3		33		327		33		9.90
G. L. Rice									10.50
D. H. C. Thompson	144.1		34		357		34		
			39		460		27		17.03
A. J. Fairservice	191.4								
D. P. Munroe	85.4		15		265		15		17.66
D. P. Willingoe	05.7		10		200				

P. J. Kippax . . . . . A. W. J. Norcott . . .

#### BEAUMONT COLLEGE

After a disappointing start, when the experienced batsmen were failing, Beaumont improved steadily and became a well-balanced side. The bowlers, headed by Baker and Stevens, were always good and the fielding excellent.

Played 14.	Won 5.	Lost 4.	Drawn 1	, Tie 1.	Abandoned 3
------------	--------	---------	---------	----------	-------------

Batting									
	Innings	N	ot out	ts	Runs	High	hest in	ns.	Average
B. L. Baker			1		311		79		23.92
C. R. Johnson			1		322		55		23.00
M. Bulfield			3		239		54*		21.72
			3		151		39*		
T. Wood						••			16.77
†I. F. Sinclair			3		184		66*		16.72
H. C. Stevens	. 12		1		179		43		16.27
A. O'Connor	. 11		3		126		34		15.75
M. Barr			0		150		36		11.53
Bowling									
	Overs	M	aiden	IS	Runs	V	Vickets	3	Average
B. L. Baker	. 163.1		44		433		34		12.73
I. F. Sinclair			19		394		22		17.90
H. C. Stevens			27		406		21	1	19.33
	100		22		295		12		24.58
R. Vickers	. 109		24		293		12		24.30

#### BEDFORD MODERN SCHOOL

Their results were a pleasant surprise to Bedford Modern, for the side was young and generally inexperienced. They played attractive cricket and developed well under an exceptionally good captain in Brannan. While Kippax stood out among the batsmen the leading bowler was Orpin, a left-arm spinner who was only 14. Played 11 Won 5 Lost 4 Drawn ?

7	Playea 11, Won 3, Lost 4, Drawn 2								
Batting	Innings	Not outs	Runs	Highest inns.	Average				
P. J. Kippax									

M. R. Theobald	12	1		283		101		25.71
R. J. Slaughter	6	0		110		62		18.33
J. S. Watson		1		135		70		15.00
B. N. Antell		1		131		50*		14.55
†A. M. Brannan		1		153		41		13.90
Bowling								
Domains	Overs	Maiden	S	Runs	1	Wickets	3	Average
J. S. Orpin		20		295	190	25		11.80
D. G. Jones				270		20		13.50

	110	 20	 210	 20	
	110.1	 14	 352	 19	
	118	21	 307	 13	
,					

18.52

23.61

#### BEDFORD SCHOOL

An inexperienced team were well led by Eldridge who headed the batting and bowling and captained the Rest against Southern Schools at Lord's. The bowling depended mainly on the accurate off-spinners of Eldridge and the excellent leg-break bowling of Cooper, being splendidly supported by lively and dependable fielding.

Played 11, Won 2, Lost 4, Drawn 5

Batting	Innings	Not outs	Runs	Hig	hest ir	ins.	Average
†D. C. Eldridge		1 .	. 327		102*		27.25
S. G. Cook			. 283		74		23.58
K. Rischmiller		0 .	. 232		75	• •	19.33 17.38
M. G. Hearth		0 .	. 226		56		16.00
I. M. W. Pettigrew			. 176		48		15.30
P. A. Pettigrew	. 11	1 .	. 155		10		

Bowling	Overs	M	aiden	S	Runs	V	Vicket	S	Average
D. C. Eldridge	248.4 129.3	::	53	::	752 575	::	45 28	::	16.71 20.53

#### BERKHAMSTED SCHOOL

Berkhamsted brought a lean spell lasting several years to an end in 1957. In a much stronger side than of late Mackrill, their captain, batted with splendid consistency and only twice during the season were the whole team dismissed.

#### Played 14, Won 5, Lost 2, Drawn 7

Batting	Innings	No	ot out	te	Runs	Hio	hest in	ns.	Average
			3		445		69		44.50
A. J. Mackrill			1				59		26.81
C. W. Grace	12		1		295				18.92
D. J. Bucknell	14		1		246		53*		
T. B. Stanier	11		5		113		23*		18.83
C. I. S. Webb	11		4		131		41*		18.71
R. M. Stanier			1		237		63*		18.23
S A. U. Fakir			3		114		35		16.28
R. M. Mitchell	11		1		129		32*		12.90
R. M. MIIICHEII	11		1		12)		-	1630	
									. 1
Bowling	_				D	V)	Vickets		Average
	Overs	M	aiden	IS	Runs	V			
A. V. B. MacLaine			19		299		21		14.23
J. B. Rush	148.1		26		407		27		15.07
C. W. Grace			31		439		24		18.29
A. D. Dunningham		433	22		403		15		26.86
A. D. Dummignam	133					- 15-7-16			

## BISHOP'S STORTFORD COLLEGE

A young side, ably led by Thorogood and often inspired by their opening batsmen, Davies and Hickling, enjoyed a more successful season than in 1956. Hickling is developing into the best left-handed batsman the school has had since the war.

#### Played 10. Won 3, Lost 2, Drawn 5

	,,		,						
Batting	Innings	No	ot out	9	Runs	Hig	hest in	ns.	Average
T. L. Hickling	9		2		398		90		56.85
	7		1		184		45		30.66
C. V. P. McDonald	8		2		165		42		27.50
W. J. Davies	7		Õ		151		70		21.57
J. S. Thorogood J. H. M. Duke	7		2		103		31		20.60
J. H. M. Duke	,		-		103				
Danling									
Bowling	Overs	M	aiden	c	Runs	V	Vicket	3	Average
C. V. P. McDonald	137.5	141	30		322		20		16.10
			29		389		23		16.91
J. S. Thorogood			12		242		11		22.00
J. H. M. Duke	13.4		14		272				

#### BLOXHAM SCHOOL

Two of the Bloxham defeats followed declarations. The batting was good, especially that of two young players, Adey and Rodgers, who had a record partnership of 287 against the XL Club. The bowling, apart from Carter and Rodgers, was moderate and the catching at times deplorable.

#### Played 12, Won 1, Lost 6, Drawn 5

Batting	Innings	Not	outs	Runs	Hig	hest in	ns.	Average
D. N. Adey			1	420		183*		32.30
C. C. W. Rodgers	. 13		3	282		101*		28.20 14.20
J. S. Carter			3	142		45		13.10
A. J. Lindsay	. 10		0	131		40		15.10

Public	School	Cricket	in	1957
1 uone	Denooi	Cricker	un	1/0/

Bowling	Overs	M	aidens	Runs	Wickets	Average
J. S. Carter	119		23	 401	 23	 17.43
C. C. W. Rodgers	91.1		12	 265	 15	 17.66

#### BLUNDELL'S SCHOOL

A powerful batting side at Blundell's lost only to St. Luke's College. With Clarke and Tarrant scoring heavily there were four partnerships of over 100 during the season. In the later matches Harvey won his place in the side at the age of 15 and formed a splendid opening partnership with Tarrant. Though Taylor was effective with his leg-breaks the strength of the bowling did not match that of the batting.

Played 13,	Won 5,	Lost 1,	Drawn 7
------------	--------	---------	---------

Batting									
	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
C. J. A. Clarke	13		2		511		135*		46.45
G. R. Harvey	7		1		275		78		45.83
P. D. Tarrant	14		1		593		185		45.61
R. A. W. Sharp	11		4		198		70*		28.28
A. R. Tinniswood	14		1		348		110		26.76
C. Mumford	11		2		197		41		21.88
F. J. Davis	10		3		113		32*		16.14
2.0.20									
Bowling									
2011213	Overs	M	aider	ıs	Runs	1	Wickets	S	Average
D. V. Taylor	176.2		35		603		38		15.86
C. J. A. Clarke	175.4		40		464		26		17.84
F. J. Davis	00 1		23		285		15		19.00
R. G. Shore			31		401		12		33.41
It. O. Duese									
	DOIT	TOTAL	TTO	COTT	TOTAL				

#### BRADFIELD COLLEGE

#### Played 15, Won 3, Lost 2, Drawn 10

Not outs	Runs			Average
1	503	136*		33.53
1	469	140*		31.26
6	269	62*		26.90
1 1				26.71
1		504		20.10
1				16.00
1				14.44
1	113	55		
		1 503	. 1 503 136* . 1 469 140* . 6 269 62* . 1 187 55* . 1 201 59* . 1 176 42	1 503 136*

Bowling	Overs	Maid	ens	Runs	V	Vickets	Average
P. J. Workman P. J. P. Eacersall E. N. Thomas P. J. H. Daubney	139.2 161.4 286.5	36	· · ·	341 437 771 341		20 19 32 14	17.05 23.00 24.09 24.35

# BRADFORD GRAMMAR SCHOOL

But for vital chances being missed by an otherwise fair bowling side the school team would have had a still better record. Gray, the outstanding batsman, and Tiffany gave the side many good starts.

#### Played 14, Won 7, Lost 3, Drawn 4

Batting	Innings	No	t out	S	Runs	Hig	hest in	ns.	Average
A. J. C. Gray			4		453 217		106*		45.30 18.08
E. Tiffany		::	1		189		40	::	17.18
M. S. Throup	9		1		132		65 50*		16.50 15.88
J. A. Schofield	12		3		143		20		

Bowling	Overs	M	aiden	IS	Runs	V	Vicket	S	Average
P. A. Boddy	142		38		305		34		8.91
M. S. Throup	59.4		14		133		13		10.23
J. P. Bailey	147.4		38		338		27		12.51
I. M. Hewitt	121.4		25		241		19		12.68
R. A. Rowe	145		49		267		21		12.71

#### BRENTWOOD SCHOOL

Consistent and often enterprising batting was the feature of Brentwood's season. The bowling of a side well led by Ryan improved during the season, but the fielding was below the expected standard.

Played 15, Won 5, Lost 3, Drawn 7

Batting									
	Innings	No	ot out	S	Runs	High	hest in	ns.	Average
M. A. Ries			3		113		43*		28.25
A. R. Wadsworth			2		191		59		27.28
B. L. G. Squirrell			0		325		67		25.00
J. N. Pawsey			2		207		68		23.00
†M. A. J. Ryan			2		193		50*		19.30
M. D. Clapham			1		165		67*		16.50
M. D. Thurgur	5		0		82		41		16.40
R. H. Parr			0		154		42		14.00
D1'									
Bowling	0	**			D		7:-14-		A
	Overs	IVI	aiden	IS	Runs	V	Vickets	•	Average
A. C. Godfrey	155		54		334		23		14.52
R. W. Webber			29		299		20		14.95
M. D. Clapham	141		32		397		25		15.88
J. W. Hodgins			10		228		13		17.53
J. N. Pawsey			37		305		15		20.33
M. A. I. Ryan	65		11		260		11		23.63

#### BRIGHTON COLLEGE

The team failed to emulate the unbeaten eleven of 1956 by losing surprisingly to Hurstpierpoint and the Old Brightonians. The most remarkable game was with Christ's Hospital since 556 runs were scored in the day. Lewis, an aggressive left-hander, was again the leading batsman, and Pickering's off-spinners showed great promise.

Played 13, Won 7, Lost 2, Drawn 4

Batting							
	Innings	No	ot our	ts	Runs	Highest inns.	Average
†R. W. Lewis	13		3		612	114	61.20
P. M. Lush	6		1		225	71	45.00
J. M. Morgan	13		1		372	107*	31.00
D. J. Pickering	13		2		297	56*	27.00
J. H. Smith	13		2		252	64	22.90
S. F. Grose	12		2		101	22	10.10
31000 111111111111	-						
Bowling							
- viiling	Overs	M	aiden	2	Runs	Wickets .	Average
D. J. Pickering		141	39		634	45	14.11
R. W. Lewis	139.3		30		381	23	16.56
	130.1		28		378	19	19.89
D. J. Marshall	130.1		20		310	17	

#### BRISTOL GRAMMAR SCHOOL

Their solid batting, particularly by Redwood and Sleigh, and the often devastating bowling of Brees brought the school notable successes.

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
B. W. Redwood	12		3		244		63*		27.11
B. S. Sleigh	14		2		325		79		27.08
R. J. Burgin	10		4		120		31*		20.00
R. H. Brees	10		2		108		43		13.50
R. C. Tanner	12		0		161		43		13.41
N. J. Ellis	14		2		146		38	•	12.16
									12.10
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets		Average
R. H. Brees	187		55		409		53		7.70
B. W. Redwood			34		411		32		12.84
B. W. Padfield	132.1		38		342		22		15.54
R. J. Short	67		12		237	A section	13		18.23
				1					10.23

#### **BRYANSTON SCHOOL**

It was not until the middle of the term that Bryanston settled down. Although the batting was never reliable the bowling and fielding afterwards developed well and the team were well handled by Checksfield.

#### Played 15, Won 5, Lost 3, Drawn 7

Batting									
	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
†M. F. J. Checksfield			1		275		61		22.91
D. M. Ladd			2		257	••	45*		
			1						21.41
J. E. Goldsmith			1		227		65		18.91
C. J. Packard			5		134		39*		16.75
R. A. R. Burton	11		4		133		37*		16.14
J. R. Brock			3		117		22		14.62
or tel Brock !!!!!!					11,		24		14.02
D!'									
Bowling									
	Overs	M	aiden	S	Runs	N	lickets/	3	Average
M. R. D. North	39.2		13		89		16		5.56
D. M. Ladd			34		355		27		13.14
J. R. Brock			54		542		36		15.05
D. C. Evans	158		44		386		24		16.08

#### CANFORD SCHOOL

Canford's season proved that batting alone cannot win matches when the bowling is weak. Outstanding in a strong batting side were Palin and Bown, a powerful striker who hit fourteen 6's for the side.

#### Played 12, Won 1, Lost 4, Drawn 7

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
†R. H. Palin	. 13		1		564		112		47.00
N. N. Bown	. 13		1		450		116		37.50
G. D. Lunn			0		305		72		23.46
A. T. Scrivener			2		229		71*		20.81
D. M. Hopkins			3		138		52		15.33
N. R. Aker			0		138		51		13.80
Bowling									
	Overs	M	aider	ıs	Runs	V	Vickets		Average
N. N. Bown	. 193		49		487		22		22.13
W. R. Foster-Mitchell .			19		228		10		22.80
R. H. Palin			21		296		11		26.90

#### CATERHAM SCHOOL

Among the ingredients which went into the making of a successful season were the captaincy and batting of Harper and excellent fielding.

#### Played 13, Won 5, Lost 2, Drawn 6

ı	Batting									
I		Innings	No	ot ou	ts	Runs	Hig	hest in	ins.	Average
	N. J. Harper	13		5		489		77*		61.12
	G. M. Bayly			2		367		75*		33.36
	D. Boston			5		159		60*		22.71
	R.C. Matthews	7		5		100		53*		20.00
	C. R. Thompson			0		170		32		14.16
	C. II. 2220			1000						
	Bowling									
		Overs	M	aiden	IS	Runs	V	Vickets	3	Average
	A. C. Gliddon	111.5		28		309		34		9.08
	J. M. Kelly			26		353		33		10.69
	R. Bull			34		319		27		11.82
	M. Dutt.					0		-		22,00

#### CHARTERHOUSE SCHOOL

The main strength during a successful season lay in the all-round form of Allom, who bowled accurately at medium pace, was a powerful stroke-player and a fine slip-field. Comer and Sutton were also successful batsmen, and 15-year-old Craig showed much promise. The fielding was good and Levy was a wicket-keeper of great possibilities.

#### Played 14, Won 6, Lost 2, Drawn 6

Batting	Innings	Not outs			Runs	Hig	hest in	ns.	Average
E. J. Craig			1		213		63*		35.50
A. T. C. Allom	. 15		3		420		87		35.00
†G. E. F. Gross			6		64		27		32.00
D. D. S. Comer			1		474		92		31.60
R. J. Sutton			2		415		92		29.64
A. A. H. White			3		260		54*		23.63
M. E. I. A. Wells			2		215		50		21.50
R. H. Sclater			1		222		52		18.50
J. C. W. Murray	. 12		5		105		28*		15.00
Rowling									

200 miles	Overs	M	aider	15	Runs	1	Vicket	S	Average
J. C. W. Murray	160		28		456		31		14.70
A. T. C. Allom									
G. E. F. Gross									
J. J. Ullman	98.4		23		304		16		19.00

#### CHELTENHAM COLLEGE

Against club sides the form of the Cheltenham team was consistently good, but the record was marred by disappointing displays in three away school matches. Stutchbury, the leading scorer, was a fine stroke-player, and Prain a particularly promising young batsman. Benke, the captain, who took 48 wickets with off-breaks, was prominent in a good fielding side whose throwing was excellent.

Played 13, Won 4, Lost 6. Drawn 3

Ratting

Dublia	School	Cricket	in	1957
Public	School	Cricker	uri	1/0/

#### CITY OF LONDON SCHOOL

Good fielding, steady bowling and inconsistent batting added up to an average season. Most encouraging was the batting of Brearley, who scored over 400 runs at the age of 15.

#### Played 16, Won 6, Lost 6, Drawn 4

The second secon	J. M. Brearley A. J. Bowtell T. S. Lacamp D. J. Lidgate. I. W. B. Peer	11 11 13		t outs 3 2 5 2 2		Runs 412 134 113 164 172 239	High	73* 43* 31 45* 45* 44	ns.	Average 31.69 19.14 18.82 18.22 15.63 14.93	
	†G. B. Green A. D. Simpson	16	••	2	::	156	::	56*	::	14.18	
	Bowling	Overs	Ma	aidens 36		Runs 437	V	Vickets	;	Average 13.24	
	J. Leech J. W. B. Peer T. S. Lacamp	133.1	::	28 34	::	490 444	::	26 21	::	18.84 21.14	

#### CLIFTON COLLEGE

After losing their first five matches, four of them narrowly, Clifton settled down to become probably their best side for several years, with wins against Marlborough, Cheltenham and Tonbridge. Their strength lay in fielding, which greatly helped an accurate slow bowling attack, of which Mathias was the most successful with leg-breaks. Bernard, who captained the side well, was outstanding with the personal read good support. with the bat and received good support.

# Played 15, Won 5, Lost 5, Drawn 5

†J. R. Bernard	ings Not 6 16	641 343 91 224 308 176	Highest inns 104	Average 40.06 28.58 22.75 22.40 20.53 16.00 13.06 11.72 11.66
R. W. Mathias 1 G. I. Arthurs 1 J. M. Cleese M. H. Filer J. R. Bernard 1	vers Maid 75 . 46 14 . 36 65 . 17 99 . 29 57 . 46 73 . 34	398 5	Wickets 34 21 13 19 19 26	Average 11.70 12.19 13.15 13.31 18.05 19.03

# CRANBROOK SCHOOL

Cranbrook's team was better than the results, several of which were close, would suggest. If the batting was unreliable with the exception of Fagg, the bowlers allowed no opponents a total of 200 and Barham, a young leg-spinner, did particularly well.

Played 14, Won 2, Lost 5, Drawn 7

Batting	Innings	N	ot ou	te	Runs	Hio	hest in	ne	A 110-
TO CO T I CO	10		6		214	_	58*		Average
									53.50
P. W. F. Stutchbury			0		521		89		32.56
R. C. H. Terdre	16		2		443		65		31.64
G. L. Prain	16		2		352		59		25.14
C. M. Brain			0		250		41		15.62
C. R. Purvis			2		213		36*		15.21
R. K. O. Carey	15		4		206		39*		
C. C. II.	13		1						14.71
C. G. Hoole	12		2		101		22		10.10
Bowling									
	Overs	M	aiden	IS	Runs	V	Vickets	3	Average
T. G. Lynch-Staunton	114.3		27		267		20		13.35
†A. F. Benke			50		720		48		15.00
B. Lowe	186.5	• •	31		545		28		19.46
C. G. Hoole	150		23		479		18		26.61

#### CHIGWELL SCHOOL

Fielding was the best feature of the Chigwell season. Well as their captain, Joslin, played as an all-rounder, the batting often failed to take advantage of favourable conditions, and the bowling was seldom dangerous.

#### Played 14, Won 5, Lost 6, Drawn 3

Datting									
	Innings	N	ot out	S	Runs	Hig	hest ir	ins.	Average
†C. P. Joslin			5		283		62		31.44
T. J. Norris			2		247		60		25.83
E. P. R. Hutton			õ		269		43		19.21
			-						
B. D. Wood	. 13		6		128		22		18.28
S. A. Brewer	. 14		0		225		52		16.07
Bowling									
	Overs	M	aiden	S	Runs	V	Vicket	S	Average
C. P. Joslin	. 74		15		239		20		11.95
D. P. Sweet			6		133		10		13.30
J. S. Collecott			17		148		11		13.45
K. W. Burnell			53		504		26		19.38
A. M. Smith			27		448		17		26.35

#### CHRIST'S HOSPITAL

The captaincy of Thompson and splendid fielding were the main factors in the team's successful season.

#### Played 13, Won 8, Lost 4, Drawn 1

D. A. G. Simon †N. P. Thompson J. C. Haylock M. P. Berry T. C. Phillips J. P. Morton	nnings 13 12 13 10 13 12	Not outs 2 1 1 0 2	Runs 355 348 285 196 256 172	Highest inns 142* . 57* . 65 . 51* . 68 . 46	Average 32.27 31.63 23.75 21.77 19.69 17.20
Bcwling  J. C. Haylock	Overs 142.5 85 108 144.4	Maidens 69 18 26 45	Runs 446 253 330 418	Wickets 43 18	Average 10.37 14.05 15.00 19.90

Batting

Batting									
to the second se	Innings	N	ot ou	ts	Runs	Hig	hest in	nns	A vone-
M. T. Fagg	15		3		472		68		Average
K. G. D. Batchelor	15		1		284		80		39.33
M. C. Porter	14		1		190		29		20.28
J. G. Barham	15		Ô		217				14.61
†J. Piper	14		1				43		14.46
R. V. Harding	15		0		167		51		12.84
R. V. Harding	13		0		180		42		12.00
Bowling									
	Overs	M	aider	ıs	Runs	V	licket:	c	Avione
J. G. Barham	218.5		75		511		39		Average
R. L. S. Clark	76		22		179				13.10
J. F. Gunn	144.1		52		280		13		13.76
M. C. Porter			-		The second second		18		15.55
I Dinor			67		383		23		16.65
J. Piper	124.1		24		356		14		25.42

#### CRANLEIGH SCHOOL

Considering Cranleigh had six old Colours the season proved disappointing with only one win. Overall, the batting lacked determination and the opening bowlers, Hutchins and Hunter, well as they performed, were overworked in an attack lacking a spinner. Missed catches proved costly.

Played	13 1	Von	1 Lost	5	Drawn 7

Batting						
	Innings	Not outs	Runs	Highest i	nns	Average
†J. W. McDermott	. 14	1	554	114*	LLLID.	
B. D. Hickman	14	1	416			42.61
J. Hutchins	11	1		98*		32.00
D. C. C. C.	. 14	1	271	43		20.84
R. G. S. Sykes	14	0	222	45		15.85
I. C. Haydon	9	0	106	30		11.77
K. H. Richmond	9	0	106	23		11.77
V. G. Ward	12	,	114			
1. O. Hara	14	4	114	34		11.40
Bowling						
	Overs	Maidens	Runs	Wicket		A
J. Hutchins		45	715		5	Average
J. W. McDermott				38		18.81
		15	482	22		21.90
N. J. F. Hunter	201	36	606	26		23.30

#### CULFORD SCHOOL

## Played 16, Won 5, Lost 6, Drawn 5

†J. M. Fisher	. 16	3	406	Highest inns 57 35 27	
Bowling	Overs	Maidens	Runs	Wickets	Average
G. H. Hazell	231.1	67	346 592	27	12.80 14.09

#### DEAN CLOSE SCHOOL

Inconsistent batting accounted for a moderate record at Dean Close. The side had three good bowlers, and Knight, who headed the averages in his fourth season, should go far as an off-spinner.

Played 12, Won 3, Lost 4, Drawn 5

R. L. Johns	Innings 12 10 12 12		ot out 1 3 0 2	s 	Runs 290 168 272 180	Hig 	hest in 104* 52* 95 29	ns. 	Average 26.36 24.00 22.66 18.00
j, P. Sedgwick	10 12	::	1 2	::	148 143	::	79 39	::	16.44 14.30
Bowling P. H. Knight C. E. N. Blake V. J. Walters		M	aiden 47 41 7	s 	Runs 460 407 276	···	Vickets 37 22 12		Average 12.43 18.50 23.00

#### DENSTONE COLLEGE

A young inexperienced side contained some promising batsmen but the bowling was weak. Barnes kept wicket well.

#### Played 11, Won 2, Lost 2, Drawn 7

Batting	Innings	No	t ou	ts	Runs	Hig	hest it	ins.	Average
R. H. Lees			5		238		71*		39.66
H. C. Illingworth	10		1		247		58		27.44 21.36
T. H. Peake	10		0		235 176		86 70		19.55
J. L. Foster			0		182		45		18.20
T. M. Melrose			1		125		37		13.88
Bowling									
Donning	Overs	Ma	aiden	S	Runs		Vicket	S	Average
I.C. Standerwick	138		33		372		22		16.90

#### DOUAL SCHOOL

Douai went through their season unbeaten. They had an outstanding batsman in their captain, Segal, and he was also the leading bowler, being well supported by his fellow-opener Horgan and John, a slow left-hander.

#### Played 12, Won 6, Lost 0, Drawn 6

Batting		* T			D	TTio	boot in		Avoroge
	Innings	INC	ot out	S	Runs	nig.	hest in	1115.	Average
tC. R. Segal	12		1		323		76		29.36
M. J. Horgan	11		0		164		42		14.90
P. D. Filmer			0		161		45		14.63
C. Allanson	12		1		151		33		13.72
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets	S	Average
C. A. John	80.5		9		209		26		8.03
			50		389		45		8.64
M. J. Horgan			33		383		24		15.95
C. A. John	80.5 164.5		9 50	_	209 389		26 45		8.03 8.64

#### DOVER COLLEGE

#### Played 15, Won 6, Lost 3, Drawn 6

Batting	Innings	No	t out	S	Runs	Hig	hest in	ıns.	Average
J. R. A. Widgery			1		302		48		21.57
G. T. Rouse	. 13		5		137		31		17.12
R. P. King	. 15		0		255		85		17.00 14.33
A. J. Kilbee	. 15		0		215 208		65		13.86
M. J. Otway	. 13		U		200		05		10.00

Batting

Dattin

Bowling								
D I C '	Overs	M	aidens	;	Runs	V	Vickets	Average
D. J. Smith	242.1		61				54	12.12
C. J. Clare	46.3		12.		156		12	 13.00
J. R. A. Widgery	112		20		6//			14.71
M. J. Otway	112		20		321		18	 17.83

#### DOWNSIDE SCHOOL

In one of their most successful years Downside's only defeat was by one wicket in the last over of the game. The leading batsman, Kavanagh, passed 50 five times and twice went on beyond 100, while the attacking batting of their captain, Chignell, set the side a splendid example. The three leading bowlers, Pearson who is fast, and spinners Sadler and Fletcher, were all aged 15. The fielding was good.

Played 12,	Won 8,	Lost 1,	Drawn 3	
------------	--------	---------	---------	--

The Said State of the Said Sta	Innings	No	t ou	ts	Runs	Hig	hest in	ns.	Average
P. A. Kavanagh			1		581		119		48.41
T. Redman	. 15		3		310		72*		25.83
†A. H. Chignell	. 15		1		345		68		24.64
W. J. C. Roberts			1		288		53		24.00
J. B. Bourke			4		137		70*		22.83
A. J. MacKenzie	. 12		3		155		44*		17.22
Bowling									

	Overs	M	aiden	ıs	Runs	V	Vicket	Average
A. J. G. Pearson	186.5		59		409		38	 10.76
R. J. Sadler	158.2		26		517		38	 13.60
C. A. Fletcher	141.4		23		418		27	 15.48
A. H. Chignell	57.5		14		210		11	 19.09

#### **DULWICH COLLEGE**

In spite of having a strong batting side, nine of their innings being ended by declarations, lack of pace bowling kept Dulwich from success. Mayatt led his side well, Soldan batted attractively and Shirley played confidently in his first full season.

#### Played 15, Won 3, Lost 3, Drawn 9

Batting									
	Innings	N	ot ou	ts	Runs	Hio	hest ir	nns	Average
J. R. Soldan		-	3		515	2.1.5	88*		42.91
D. A. Shirley		• • •	1		589		127*		42.07
			1						
P. Simmonds			1		376		69		28.92
†P. H. Mayatt	. 15		0		406		90		27.06
R. M. Trembath	. 10		4		110		35		18.33
Bowling									
20,121.9	Overs	M	aiden		Runs	7	Vickets		Average
B. G. Rogers		-	63		4.44			,	
							43		15.53
M. Kirkman	. 163.5		19		517		28		18.46

#### EASTBOURNE COLLEGE

#### Played 13, Won 3, Lost 4, Drawn 6

Datting									
	Innings	No	ot out	ts	Runs	His	ghest in	ıns.	Average
T. D. Wainwright	. 14		2		460		95		39.33
C. B. G. Masefield	. 14		1		414		108		31.84
P. G. Parsons	. 13		0		308		53		23.69
R. Gedney			1		303		78		23.30
M. S. C. Hill	. 12		4		152		40*		19.00
G. E. W. Bowyer			0		197		48		15.15
T. T. Laycock			0		141		37		10.07

Bowling:	Overs	M	aiden	S	Runs	V	Vicket	S	Average
P J. Colbourne	247		60		587		32		18.34
M Walter	204.3		53		470		25		18.80
I M. E. Wilmot	166.5		71		421		22		19.13
†A. J.G. Glossop	168		33		461		23		20.04

#### THE EDINBURGH ACADEMY

The Edinburgh Academy had a successful season. Most of the side could make runs, six bowlers shared the wickets, and the fielding was safe. Wins were recorded over Fettes, Loretto, Strathallan and Watson's, and each of the defeats was by a narrow margin—seven runs by Glenalmond and two wickets, following a declaration, by a club side. The centenary match with Merchiston was unfortunately ruined by rain. This, the oldest inter-school match in Scotland, has been a regular fixture since 1857. For some years it was played twice each season and the number of matches which have taken place is 122. Of these the Academy have won 50, Merchiston 41, and 31 have been drawn.

#### Played 13, Won 7, Lost 2, Drawn 4

P. J. Burnet		No	ot ou	ts	Runs 489 357	Hig	hest in 85 66*	ins.	Average 37.61 29.75
†D. M. Henderson		::	ĩ		282		74*		25.63
R. Mathieson			1		310		56		23.84
Bowling	0	14	aiden		D	V	Vickets		Awaraga
2 2 Cill	Overs	IVI		S	Runs	Y		,	Average
					160				10 50
D. B. Gillan		• •	27	• •	168		16		10.50
D. J. L. Proudlock	133		30		337		23	::	14.65
	133	::	-		337 355		23 23	::	14.65 15.43
D. J. L. Proudlock	133 162		30		337		23		14.65

#### **ELTHAM COLLEGE**

#### Played 14, Won 3, Lost 5, Drawn 6

†I. R. Gillham J. H. Bradnock D. W. Hart K. Green	12	No	ot out 3 1 0	.s	Runs 433 305 138 112	Hig	72* 103* 46 30	ns	Average 43.30 27.72 15.33 10.18	
Bowling	Overs	M	aiden	s	Runs	V	Vickets		Average	
E. G. Moore		• •	45 20		239 122		26 11		9.19	
A. J. H. Ruffle N. J. Martin			31		338		28		12.07	
D. J. Norris	131		38		277		20		13.85	

#### **EPSOM COLLEGE**

Epsom depended greatly on the all-round form of Jinnah, who was outstanding both as batsman and bowler. Though the left-handed Jaques supported him well the batting generally was not good enough.

#### Played 11, Won 4, Lost 4, Drawn 3

Batting	Innings	No	ot out	ts	Runs	Hig	hest in	ns.	Average
A. H. Jinnah	. 12		3		590		147*		65.56
C. T. C. Jaques	. 12		3		388		76*		43.11 20.25
M. C. Ribeiro	. 13		1		243 127		49		18.14
N. B. Merlin	. 11		4		121		50		10.17

BR

Datting

Public	School	Cricket	in	1957
1 mone	Delloot	CILCAGI	ul	1/1/

B	0	W	li	n	g
_	~				

	Overs		Runs	1	Vickets		Average
A. H. Jinnah	173	 51	 402		38		10 57
C. T. C. Jaques	92	 18	 274		15	•••	18.26
N. B. Merlin	192	 60	 445		24	•	18.54
M. R. B. Clarke							19.50

#### **ETON COLLEGE**

An accident on June 7 deprived Eton of their captain and outstanding cricketer, H. C. Blofeld. E. J. Lane-Fox took over the captaincy and J. Baskervyle-Glegg kept wicket respectably well. But Blofeld's loss affected the team's morale in June. The batting was strong, and Clegg made a notable advance as an opener to support Lane-Fox, while Burrows, Leonard and Baring all played usefully. The bowling depended too much on the fast-medium out-swingers of Scott, and the off-spin of the 15-year-old Fellowes. The fielding was good, Dunning, Burrows, Ayer and Goodier being outstanding.

Played 15, Won 3, Lost 6, Dr	rawn	(	6
------------------------------	------	---	---

Batting										
		Innings	N	ot out	S	Runs	Hig	hest in	ins.	Average
†E. J. ]	Lane-Fox	17		1		594		102		37.12
	A. Clegg			0		502		86		31.37
A. R. 1	Burrows	15		4		344		68*		31.27
	eonard	15		2		326		45*		25.07
	. Scott	9		3		108		26		18.00
	owes	13		5		142		28		17.75
	Dunning	13		4		148		24*		16.44
	ervyle-Glegg			1		192		40		14.70
								,		
Bowlin	g									
		Overs	M	aidens	S	Runs	V	Vickets	3	Average
E. J. R	. Scott	219		43		618		32		19.31
	B. Burrows	88		22		203		10		20.30
	owes	232		59		766		33		23.21
	ane-Fox	155		38		426		15		28.40

#### EXETER SCHOOL

#### Played 13, Won 6, Lost 4, Drawn 3

Batting					
	Innings	Not outs	Runs	Highest inns.	Average
†R. R. Cockroft		3	408	87*	40.80
M. J. C. Tozer		0	255	51	19.61
D. I. Yeabsley		. 4	143	56*	17.87
J. S. Veryard		1	168	65	14.00
J. S. Veryard	13	1	100	05	14.00
Bowling					
Downing	Overs	Maidens	Runs	Wickets	Average
	OVEIS	IVIAIUCIIS			
D. I. Yeabsley	187.5	42	451	52	8.67
D. I. Yeabsley	187.5 83				
M. J. Tozer	83	42	451 269	52	8.67
D. I. Yeabsley M. J. Tozer D. Westcott R. J. P. Gray	83 45	42	451	52 23	8.67 11.69

#### FELSTED SCHOOL

Although beaten three times the school side was again good. There was plenty of batting, even though Luckin did not quite maintain his great form of 1956, and the team had two admirably persistent bowlers, the opener Ball and Higgins with his left-arm spinners.

Played 13, Won 5, Lost 3, Drawn 5

Batting S. R. Walters R. A. G. Luckin R. L. Tyrrell S. D. Culling A. Pickard A. T. P. Higgins	12 14 11	Not outs . 1	Runs 607 547 354 454 161 226	Highest inns 134* . 87 . 102* . 72 . 56 . 53	Average 46.69 42.07 39.33 32.42 20.12 17.38
Bowling B. W. Ball A. T. P. Higgins S. C. S. Beresford R. A. G. Luckin. S. D. Culling	215.1 59.1 64.4	Maidens 62 52 15 7 48	Runs 546 627 196 272 542	Wickets 38 37 10 11 17	Average 14.36 16.94 19.60 24.72 31.88

#### FETTES COLLEGE

The school side achieved much more than had been expected, and for that much of the credit belonged to the captain, Hoare, both as leader and player, while Bain proved an outstandingly successful new-ball bowler.

#### Played 16, Won 6, Lost 3, Drawn 7

Batting	- Inch								
	Innings	N	ot out	S	Runs	Hig	hest in	ins.	Average
†R. J. B. Hoare	. 18		2		483		64		30.18
I.M. S. Graham			3		363		54		25.92
C. G. Hamilton			1		314		104		18.47
S. Dakers			3		200		41*		18.18
J. A. P. Shackleton			0		254		73		18.14
B. O. Lloyd			4		201		51*		16.75
J. A. B. Armit			3		101		34		10.10
, A. D. Athlit									
	and the		not plant						
Bowling							Violent		Avorage
Bowling	Overs		aiden		Runs	V	Vickets	3	Average
Bowling	Overs		aiden 82			V	Vickets 50	3	Average 11.28
Bowling A. W. M. Bain	Overs . 284.2			S	Runs				
Bowling A. W. M. Bain R. J. B. Hoare	Overs . 284.2 . 37.5		82	s	Runs 564		50		11.28
Bowling A. W. M. Bain R. J. B. Hoare R. C. Roy	Overs . 284.2 . 37.5 . 174.3		82 .2	s	Runs 564 160		50 10		11.28 16.00
Bowling A. W. M. Bain R. J. B. Hoare	Overs . 284.2 . 37.5 . 174.3 . 196.4	M	82 2 36	s	Runs 564 160 537		50 10 32		11.28 16.00 16.78

#### FOREST SCHOOL

Batting and bowling honours were equally shared, and the fielding was good without being outstanding. The average runs (26 per wicket) was better than the average of opponents, which was a fair reflection of the team's standard. Saady completed three good seasons of captaincy.

#### Played 13, Won 5, Lost 4, Drawn 4

Batting									
	Innings	No	ot out	S	Runs	Hig	hest in	Average	
M. H. W. Rogers			2.	4	334		66*		33.40
G. Leleu	14		1		344		52		26.46
*D I Carda			2		200		63	1	25.00
†D. J. Saady	11		0				76		24.53
D. Wilson	13		0		319				
C. J. Foster	12		1		264		83		24.00
D. R. Peacock	10		2		112		45*		14.00
Bowling									
20 ming	Overs	M	aiden	2	Runs	V	Vickets		Average
M. H. W. Rogers		111	44		310		26		11.92
A D Charalter	124.3		31		250		18	-	13.89
A. D. Chandler									14.33
D. Wilson			35		301		21		
R. W. G. Banks	116.4		35		297		20		14.85

#### FRAMLINGHAM COLLEGE

Too much was thrust on bowlers Larter and Turnbull. Larter bowled fast and well and made the most of his 6 ft. 4 ins. They deserved better support from the batsmen.

Played 1	11	Won	6	Lost	6	Drawn 2	
Plavea	4.	vv on	O	LOSL	U.	Drawn Z	

Batting	Innings	No	t out	ts	Runs	High	hest ir	ins.	Average
A. W. Hancock	. 14		1		339		71		26.07
N. H. Porter			3		194		48		19.40
†J. Iliffe	. 15		1		227		44		16.21
A. G. Wright			0		229		47		15.26
M. A. G. Spencer			0		182		46		13.00
Bowling									
	Overs	M	aiden	S	Runs	V	Vicket	S	Average
J. D. F. Larter	. 242.4		75		495		52		9.51
D. L. Turnbull	. 211.4		51		533		41		13.00

#### GEORGE HERIOT'S SCHOOL

#### Played 15, Won 7, Lost 1, Drawn 7

Batting									
	Innings	No	t out	s	Runs	Hig	hest in	ıns.	Average
E. H. Tainsh	. 15		0		495		70		33.00
H. K. More	. 15		2		349		75*		26.84
†G. F. Goddard	. 15		2		283		77		21.76
C. W. Ford	. 12		2		136		28		13.60
J. A. G. Fiddes	. 11		2		108		34		12.00
W. L. McClure	. 9		2		81		24*		11.57
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets	S	Average
G. F. Goddard	. 226.4		84		339		54		6.27

J. R. O'Malley ...... 59.7 .. 18

W. I. Laing ........... 194.3 .. 58

Batting

R. R. Sanders H. K. More.	124	 28	 252	 19

6.53 13.26

13.54

17.57

#### GEORGE WATSON'S COLLEGE

# Piayed 15, Won 3, Lost 9, Drawn 3

the state of the s	Innings	Not outs	Runs	Highest inns.	Average
P. McLaren	. 11	2	215	74	23.88
S. R. Murray					20.53
†I. S. Sangster	. 13	0	224	47	17.23
R. M. Bain	. 12	1	115	28	10.45
Bowling					
Bowling	Innings	Not outs	Runs	Highest inns.	Average
M. T. R. Smith	. 37	12	115	15	7.66
S. R. Murray	. 145	46	279	24	11.62
			100	20	17 57

#### **GLASGOW ACADEMY**

492

#### Played 13, Won 6, Lost 4, Drawn 3

Batting						
77 THE STATE OF TH	Innings	Not outs	Runs	Highest	inns.	Average
†J. C. Henderson				62		23.66
D. Naismith		. 1	164	35		23.42
H. M. Jackson		6	124	25		41.33

Bowling	Overs		Runs	V	Vicket	S	Average	
H. M. Jackson	138.5	 42	 347		28		12.39	
D Mackinlay	109.4	 20	 352		28		12.57	
I C Henderson	74.6	 9	 335		20		16.75	
M. Graham	142.5	 31	 349		20		17.45	

#### GORDONSTOUN SCHOOL

In spite of batting failures the consistent medium-paced bowling of Innes and good fielding produced a good record at Gordonstoun.

#### Played 10, Won 7, Lost 2, Drawn 1

†J. A. F. Vallance N. T. Otty S. MacDonald	10	 0	 Runs 222 131 188	 65 38*	::	Average 22.20 21.83 18.80
Bowling J. A. Innes	66.3	 9	 Runs 188 201 112	 Vickets 28 22 11		Average 6.71 9.13 10.18

# GRESHAM'S SCHOOL, HOLT

#### Played 13, Won 2, Lost 3, Drawn 8

Batting									
2	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
P. C. Jones	10		0		437		75		33.61
M. P. M. Prentice			3		202		40		25.25
R. J. Barry			1		282		69		23.50
P. R. Bodington	10		3		164		59		23.42
A. C. K. Day			3		123		38*		20.50
H. J. Stevenson			1		143		45		20.42
G. C. S. Andrews			3		155		50*		15.50
N. E. Day			1		135		30*		15.00
2 2									
Bowling									
	Overs	M	aider	ıs	Runs	V	Vickets	3	Average
P S Salinson	79.3		9		283		16		17.68

	Overs	M	aiden	IS	Runs	V	Vicket	S	Average
P. S. Salinson	79.3		9		283		16		
R. J. Barry									
P.C. Tones	160		30		477				25.10
C. R. Burrell	106		11		366		12		30.50

#### HABERDASHERS' ASKE'S SCHOOL

For the first time in many seasons the school enjoyed reliable batting, but an opening bowling weakness kept the side from genuine success. English was a promising young medium pacer, and late in the season the attack was strengthened when Scofield found his form with leg-breaks and googlies.

#### Played 14, Won 3, Lost 6, Drawn 5

Batting	Innings	No	t outs		Hig	hest inns.	
N. H. Healey	. 13		3	225		50*	22.50
I. D. Scofield			1	280		53	21.53
R. Purvis			0	208		44	18.90
J. Bustard			3	124		24	12.40
C. Bradford	. 14		2	132		32*	11.00

Public	School	1 CV	icket	in	1957
1 uone	Denoc	n	ichei	ul	1731

#### Bowling

	Overs	M	aiden	S	Runs	,	Wickets	Average
D. English	98		30		226		17	12 20
T. R. Treadwell	91		21		204		14	14 57
I. D. Scofield	110		17		445		26	17 11
M. R. Hunt	99		23		263		13	 20.23

#### HAILEYBURY AND I.S.C.

Not until their last game, against Cheltenham at Lord's, was an inter-school match lost. Previously Tonbridge, Bedford and Uppingham had been beaten in the course of a splendid season. The ingredients of success were the enthusiastic leadership of Lofting, the willingness of the batsmen to attack and an admirable fighting spirit. It was a team without any outstanding players whose fielding was always keen and their throwing above average.

#### Played 12, Won 5, Lost 2, Drawn 5

Batting									
	Innings	No	t out	S	Runs	Hig	hest in	ns.	Average
†J. G. Lofting	. 14		0		382		67		27.28
P. J. Parsons			1		342		61		24.42
A. G. Roberts			4		205		44*		22.77
D. Moeller			1		296		52	• • •	22.76
M. Higginbottom			0		119		51	•	19.83
I. N. Smith			2		198		52	• • •	18.00
D. A. Crichton			3		211		48*		17.58
C. J. Ledger			2		106		37		15.14
I. A. McDonald			1		152		51*	•	13.81
2, 12, 11, 2, 2, 2, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1,	10010		100		102		- 1		15.01
Bowling									
Donald									

#### Overs Maidens Runs Wickets Average C. J. Ledger ..... 122.5 .. 22 304 11.25 79.4 .. 25 194 D. Moeller ..... 14 13.85 I. N. Smith . . . . . . . 134.1 . . 40 322 22 14.63 A. G. Roberts..... 200 .. 55 509 15.90

#### HARROW SCHOOL

For Harrow 1957 was a season of team building, complicated by lack of form of various old "flannels," and the side was a long time settling down. The batting possibilities were never quite fulfilled. Vargas, naturally a fine aggressive player, took a long time to get going after breaking a leg in the football season. Lockett compensated for lack of strokes by becoming sheet anchor in an inexperienced side. Nicholson looked a good player when on the attack on a fast wicket but had limitations of technique. Foster showed considerable promise and verve for the future. The bowling depended greatly upon Champniss's legbreaks and googlies but he never acquired accuracy.

#### Played 13, Won 2, Lost 4, Drawn 7

Batting					
	Innings	Not outs	Runs	Highest inns.	Average
J. D. C. Vargas		1	461	101*	32.92
J. B. Lockett		3	342	71*	31.09
N. F. Nicholson		0	309	74	25.75
D. R. J. Foster		0	202	43	20.20
A. J. Anderson		0	171	39	19.00
†L. J. Champniss		0	252	66	18.00
A. B. Cable		. 2	175	42	13.46
A. B. Caole	. 13		113	14	15110
Bowling					
Downing	0	Maidens	Duna	Wickets	Average
M T TT Washes	Overs	16	Runs	24	19.12
M. J. H. Weedon		46	593	31	
L. J. Champniss		29	668	23	29.04
P. E. d'Abo		26	386	12	32.16
B. S. Raper	. 152.5	29	418	11	38.00

#### HEREFORD CATHEDRAL SCHOOL

Form in the first six matches was disappointing; but, thanks to the fine batting of Brown, and to an effective fast attack, the side gained confidence and want six of their last seven matches.

#### Played 13, Won 7, Lost 2, Drawn 4

Batting	Innings	Not outs		Runs	Highest inns.			Average	
+R. B. Brown	13		2		538		117		48.90
A. Howgate			1		243		62		20.25
P. R. Shepherd			0		199		39		16.58
J. S. Daybell	13		0		212		46		16.30
Rowling									
DOWNING	Overs	Maidens		Runs	Wickets			Average	
A. Howgate	130.3		27		353		38		9.28
J.A. S. Duckenfield	102		32		187		18		10.38
R. A. Shepherd	111.5		20		331		24		13.79

#### HIGHGATE SCHOOL

After a good start Highgate were disappointing in inter-schools matches, though their defeats were by narrow margins. Drybrough was outstanding as batsman and also the best bowler, while Webster, son of the former Cambridge Blue and Middlesex batsman, was a promising medium-paced bowler. The season was notable for the splendid throwing in the field. Garner made superb catches, and Drybrough, Plummer and Holland were outstandingly good fielders.

#### Played 16, Won 6, Lost 7, Drawn 3

Batting									
	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
tc. D. Drybrough	15	6		706		156*		78.44	
A. D. Izzard	14		0		244		58		17.42
D. W. Plummer	14		1		225		58*		17.30
R. P. Juniper	16		Ô		273		81		17.06
M. W. Webster	14		1		207		35		15.92
M. H. Wadsworth	14		1		200		57*		15.38
			1						13.80
N. L. Hancock	11		1		138		46		
C. J. S. Garner	13		2		148		22		13.45
Bowling									
201111119	Overs	Maidens		ıs	Runs	V	Vickets	Average	
M. W. Webster	125		24		292		25		11.68
C. D. Drybrough	172		39		418		32		13.06
					370		20		18.50
D. A. Holland	110.5		24						
M. H. Wadsworth	132		33		308		16		19.25
N. L. Hancock	128.1		23		400		17		23.52
D. Hulloock	120.1								

## HURSTPIERPOINT COLLEGE

Hurstpierpoint had an improved season with a young side. The batting was generally more consistent than in recent years, and the opening bowlers, Pollock and Williams, were a very good pair, though the rest of the attack was thin.

#### Played 15, Won 4, Lost 8, Drawn 3

Batting	Innings	No	ot out	ts	Runs	Hig	hest in	ins.	Average
B. W. Berks	. 15		0		271		67		18.06
W. G. Pollock	. 14		1		230		62*		17.69
A. J. Bradford	. 15		0		233		54		15.53
A. J. Snow	15		1		204		42		14.57

10.71

11.14

20.00

Bow	ling
-----	------

X	Overs	M	aidens	3	Runs	1	Wickets	Average
M. B. Williams	186		38		451		41	 11.00
W. G. Pollock	220		60		569		40	 14.22

#### IPSWICH SCHOOL

Ipswich owed their successes to all-round efforts rather than individual success, although Whitfield, an aggressive left-hander who played several times for Suffolk, enjoyed an outstanding season with the bat.

#### Played 13, Won 5, Lost 2, Drawn 6

	Innings	No	t ou	ts	Runs	His	ghest in	ıns.	Average
†W. A. D. Whitfield	. 13		4		494		152*		54.88
R. H. Hagger	. 12		2	190	172	::	42*	• • •	17.20
D. R. D. Newell	. 13		0		215		106	•••	16.53
P. A. Connell	. 13		0		209		77		16.07
R. P. B. Kemp	. 13		0		195		48		15.00
J. H. Cook	. 13		1		147		42		12.25
Bowling									

Ratting

Batting

	Overs	M	aidens	Runs	1	Vickets	5	Average
J. G. Burgess	68.2		13	 217		18		12.05
G. M. Pell	70.2		21	 249		17		14.64
R. H. Hagger	98.2		15	 334		18		18.55
R. P. B. Kemp	160		47	 448		24		18.66
W. A. D. Whitfield	123		19	 388		17		22.82

#### KELLY COLLEGE

#### Played 16, Won 6, Lost 6, Drawn 4

D. J. Codd	15	Not outs 2 2 1	Runs 333 244 271 154	Highest inns 90*	Average 27.76 18.76 18.06 15.40
Bowling  J. S. M. Mitchell  E. D. Torrens	Overs 184.3 179.1	Maidens 57 34	Runs 376 542	Wickets 30 41	Average 12.53 13.21

# KING EDWARD'S SCHOOL, BIRMINGHAM

#### Played 18, Won 3, Lost 10, Drawn 5

Batting	ayea 10,	rr on	J, L	031 10	, Druw	13			
	Innings	No	ot ou	ts	Runs	Hig	hest i	nns.	Average
G. E. Phillips	. 17		0		432		67		25.41
P. B. Rothwell	. 18		0		322		63		17.88
M. J. Disney	. 17		0		304		85		17.88
T. P. Lee	. 12		2		164		50		16.40
A. E. H. Hornig	. 18		4		188		39		13.42
†R. G. Dauncey	. 17		3		165		40		11.78
A. B. Clayton	. 12		1		126		29		11.45

Bowling									
	Overs	M	aiden	IS	Runs	V	Vicket	S	Average
R. C. Spiers	116.4		35		364		22		16.54
A. E. H. Hornig	86.5		14		354		21		16.85
M. J. Disney	126.1		35		332		19		17.47
R. A. Green			18		204		10		20.40
R. G. Dauncey	136		36		414		20		20.70

## KING EDWARD'S SCHOOL, STOURBRIDGE

Fast scoring enabled decisions to be reached in all but one game. A strong hatting side, the spin bowling of J. M. Cockin and M. J. Clinton and good fielding contributed to an excellent record.

#### Played 16, Won 14, Lost 1, Drawn 1

K. R. Adams .....

A. H. Johnson . . . . . . . . . . . . . . . . . . 48

T. Dixon . . . . . . . . . 70 . . . 12

Batting	Innings	Not outs			Runs	High	hest in	ns.	Average
D. Sturman	. 14		4		308		67		30.80
R. E. Lloyd-Jones	. 16		3		377		79*		29.00
+I. M. Cockin	. 13		3		203		51*		20.30
A. J. Banbery			2		228		52		19.00
M. R. Swinnerton	. 11		1		150		41		15.00
Bowling	Overs	M	aiden	S	Runs	V	lickets		Average
M. J. Clinton	. 163.3		84		207		40		5.17
I.M. Cockin			47		314		55		5.70
M. R. Swinnerton	. 85		32		173		19		9.10

# 26 KING WILLIAM'S COLLEGE, ISLE OF MAN

99

#### Played 15, Won 5, Lost 7, Drawn 3

Batting	Innings	Not outs			Runs	High	nest in	nns.	Average	
M. Fitzhugh	9		0		140		96		15.55	
W. Crowe			3		162		27		13.50	
A. Bashforth	16		0		202		28		12.62	
†H. A. Galbraith	16		0		186		34		11.62	
T. J. Brennan	13		0		132		28		10.15	
Bowling	Overs	M	aiden	S	Runs	W	licket	S	Average	
M. Wood			39		198		23		8.60	
J. A. Wilde			28		276		29		9.51	
A1 17 11 77 00 1 1 1 1 1 1 1 1 1 1 1 1 1	- 10	100000		- 1		The state of the s				

312

220

#### KING'S COLLEGE, TAUNTON

#### Played 12, Won 3, Lost 6, Drawn 3

Batting	Innings	N	ot ou	te	Runs	Hio	hest in	ne	Average
†R. Osborn			5		260	1115	68*		23.63
M. Prew			1		316		72		22.57
J. Carnegie			3		121		30		20.16
R. Taylor			3		242		86*		18.61
P. Twose	16		1		241		110*		16.06
W. Price			0		175		54		13.46
M. Fussell			2		148		31		12.33
Bowling	Overs	M	aider	21	Runs	7	Vickets		Average
R. Stoneman	07.5	141	8		371		27		13.74
D. Walters			22		448		27	11	16.59
P. Twose			33		577		33		17.48

#### KING'S SCHOOL, BRUTON

The team's strength lay in the bowling, a good opening attack by Tucker and Maffey being well supported by varied spin-bowling, particularly that of Pinco, who was perhaps the most promising off-spin bowler the School has had for years. The main burden of the batting was carried by Gifford and Maffey, a 14-year-old left-handed all-rounder.

Played 10, Won 5, Lost 3, Drawn 1, Abandoned 1

Ratting

Public School C	Cricket in	1 1957
-----------------	------------	--------

Innings Not outs

Batting

Runs Highest inns. Average

Batting									
P. J. Maffey	Innings		ot our		Runs	Hig	hest in	ıns.	Average
TJ. A. Gifford	9		3	::	139 131	::	45* 39		34.75
M. G. Read	10		1		184		38*		21.83 20.44
Bowling									
D D T .	Overs	M	aiden	S	Runs	V	Vickets		Average
D. R. Tucker P. F. Canning	49		13		126		11		11.45
R. M. Pinco	50 108		20 24		124 335		10 24		12.40
P. J. Maffey		::	36	::	202	•	13		13.95 15.53
							-		10.00

#### KINGS' SCHOOL, ELY

#### Played 15, Won 7, Lost 1, Drawn 7

Batting									
4D W Cl 1	Innings	No	t out	S	Runs	Hig	hest in	ns.	Average
†R. W. Clark	. 13		1		380		105*		31.66
D. J. Brewin	. 12		3		181		87*		20.11
P. D. Dunbar	. 9		3		107		36	195	17.83
R. J. Jessop	13		2		176		56*		16.00
R. Morris	12		2		131		26		13.10
				• •	131	•••	20		13.10
Bowling									
	Overs	Ma	iden:	S	Runs	V	Vickets		Average
P. D. Dunbar	132		32		327		37		8.83
P. D. McClure	55		22		100		11		9.11
R. W. Clark	330		51		382		39		
			-1		304		39		9.79

# THE KING'S SCHOOL, MACCLESFIELD

With only one old Colour available, results were satisfactory, though several matches were lost through inconsistent batting after opponents had been dismissed for moderate totals. Barker had a good season as an all-rounder and afterwards played for Cheshire.

# Played 17, Won 7, Lost 7, Drawn 3

Datting								
	Innings	Not o	outs	Runs	Hie	hest i	nns	Average
†C. D. R. Barker	17			321	-11-6	40	LILIO.	22.92
J. K. Belfield	17	(		264		58		
M. L. T. Cooper	14	2		100				15.52
J. K. Arnold	15			153	• •	34		12.75
J. R. Aillold	13	4		159		50		12.23
Bowling								
	Overs	Maio	lens	Runs		Wicke	ts	Average
C. D. R. Barker	149.2	36		330		41		8.04
S. B. Bryning	159	28	-	486	::	41		11.85
M. Cole	122	22	A Property of the Parket	368		31		
2.2. 0010 1111111111111	122	44		300		31		11.87

## KING'S SCHOOL, ROCHESTER

King's School, Rochester, were unbeaten by other schools, winning six and drawing two of the eight school matches. The batting of Reader, the captain, and Burren was impressive both by virtue of its power and consistence. Aided by alert, competent fielding, the bowlers, especially Spyer, a fast right-hander, were equal to their task. The wicket-keeping of Webster, the vice-captain, was often outstandingly good. Six old Colours remain as the nucleus of the 1958 side.

Played 12, Won 7, Lost 2, Drawn 3

C. Burren F. B. Melhuish J. P. Hughes K. J. Webster	10 7 12		1 2 0 1	 341 148 101 143	::	99* 36* 34 38	 31.00 18.50 14.42 13.00	
N. R. J. Funnell  Bowling			2	121		32*	12.10	
R. C. Spyer	97	• • •	51 32 27	 Runs 315 213 352		Vickets 36 21 28	 8.75 10.14 12.57	

#### KINGSWOOD SCHOOL

#### Played 10, Won 5, Lost 4, Drawn 1

Batting R. G. J. Hopkins D. M. Eadie A. G. P. Lang	11	No	ot out	ts 	Runs 208 152 153	Hig 	hest in 52 30 41	ins.	Average 23.11 16.88 13.90
Bowling	0				70		×7* 1		
	Overs	IV.	Laider	18	Runs	,	Wicket	S	Average
D. M. Eadie	80		14		237		21		11.28
†A. W. Fearn	151		44		338		22		15.36
A. J. Jarvis	104		38		248		15		16.53
D. J. Fornette	. 81.2		13		216		12		18.00

#### LANCING COLLEGE

Lancing's term was a triumph for the leading four batsmen. Together they made 2,429 runs and made them so fast that early declarations were the rule.

#### Played 15, Won 3, Lost 5, Drawn 7

Batting									
	Innings	No	ot out	ts	Runs	Hig	hest in	ins.	Average
G. J. Sharman	. 16		3		786		123*		60.46
†T. J. Goodwin	. 16		2		678		129*		47.42
J. W. Bridge	. 16		2		506		89*		36.14
N. H. S. Evans			1		479		99		34.21
C. J. Saunders			4		164		57		20.50
G. Davies			3		124		63*		17.71
G. C. Herbert			1		117		36		13.00
Bowling									
	Overs	M	aiden	S	Runs	1	Vicket	3	Average
T. J. Goodwin	. 214		45		587		23		25.52
G. J. Sharman			26		821		32		25.62
N. H. S. Evans			27	4416	540		20		27.00
C. J. Hale			19		367		11		33.36
		A SECTION AND ADDRESS.							

#### LEEDS GRAMMAR SCHOOL

#### Played 11, Won 3, Lost 4, Drawn 4

	No	t out	S	Runs	Hig	hest in	ıns.	Average
10		0		247		65		24.70
		2		105		26*		17.50
9		0		141		49		15.66
9		2		108		30		15.42
		0		113		12		12.55
	8 9 9	10 8 9 9	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	10 0 247 8 2 105 9 0 141 9 2 108	10 0 247 8 2 105 9 0 141 9 2 108	10 0 247 65 8 2 105 26* 9 0 141 49 9 2 108 30	10 0 247 65 8 2 105 26* 9 0 141 49 9 2 108 30

Public School Cricke	et in 1	957
----------------------	---------	-----

Bow	ling
-----	------

Ratting

Ratting

Downing	Overs	M	aiden	S	Runs	1	Vickets	Average
J. A. Windsor	120.4		35		319		40	7 07
G. A. Chrispin	39		7		141		10	14.10
K. M. Roberts	87		13		320		22	 14.54

#### THE LEYS SCHOOL

A side built round only two old Colours did particularly well in school matches with victories over Bedford, Felsted, St. Paul's, Bishop's Stortford, Gresham's and Wellingborough. Bousfield was the most mature bat, and Fairey, slow left-arm, was the best of the attack.

Played 14, Won 7	, Lost 1, Drawn 6
------------------	-------------------

Datting										
	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average	
Y. M. Munjee	. 5		1		152		82*		38.00	
D. S. Bousfield	. 12		1		332		103		30.18	
S. G. G. Benson	. 12		2		301		80		30.10	
J. P. Pashley	. 14		2		291		51*	::	24.25	
D. H. R. Fairey	. 13		1		263		68		21.91	
S. B. Turner	. 10		2		167		49		20.87	
P. G. R. Rigg	. 13		ō		265		62		20.38	
S. C. Amey	. 12		5		102		39		14.57	
A. J. Leach	. 12		1		123	::	31		11.18	
			-		123	• •	31		11.10	
Bowling										
	Overs	M	aiden	S	Runs	V	Vickets		Average	
Y. M. Munjee	. 48.3		7		139		11		12.63	
D. H. R. Fairey	. 225.5		72		497		38		13.07	
J. P. Pashley	. 160.3		47		492		30		16.40	
					.,,,,,		50		10.70	

#### LIVERPOOL COLLEGE

In spite of starting without a single old Colour, the College lost only one match by other than a narrow margin. McCullagh was a valuable all-rounder, and Turner a reliable batsman in difficult situations.

#### Played 9, Won 2, Lost 4, Drawn 3

D. M. Turner	9	1	Runs 176 160 140	56 60*	Average 22.00 20.00 15.55
Bowling R. A. McCullagh D. Searle			Runs 387 332	Wickets 29 23	Average 13.34 14.43

#### LLANDOVERY COLLEGE

The team played well together and owed much to the captaincy of Bevan. The bowling was steady and better than results suggested, but the batting was uncertain.

#### Played 14, Won 6, Lost 6, Drawn 2

Batting	Innings	No	ot out	ts	Runs	Hig	hest ir	nns.	Average
D. I. Gealy									32.62
C. B. Elliott	. 14		1		342		76*		26.30
D. N. Stimson							39*		23.62
R. J. Harris					244		44		17.42
†H. E. D. Bevan	. 13		0		199		41		15.30

Bowling	Overs	M	aiden	S	Runs	V	Vicket	S	Average
P. M. Davies	117.3		35		256		18		14.22
N. Arundel	172.5		36		465		25		18.60
H. E. D. Bevan	84		7		286		13		22.00
C. B. Elliott	154.2		36		412		18		22.88

#### **LORETTO**

During a successful inter-schools season the bowling was carried by the openers, Pattullo and Barr, who bowled 406 overs out of 699 and took 80 wickets out of 124. They suffered from missed slip catches.

#### Played 16, Won 5, Lost 3, Drawn 8

Batting									
	Innings	No	t ou	ts	Runs	High	hest in	ins.	Average
A. N. G. Barker	18		4		417		113*		29.78
J. A. McOrr	18		0		456		58		25.33
†P. R. Prenter			1		336		60		19.76
W. A. Burnet	18		1		324		50		19.05
G. R. G. Graham	11		4		126		44		18.00
D. A. Macaulay	18		3		246		80		16.40
J. C. G. Barr	11		1		105		30		10.50
Bowling									
Donning	Overs	M	aiden	ıs	Runs	V	Vicket	S	Average
A. H. Pattullo	192		51		441		36		12.25
J. C. G. Barr			45		647	9 200	44		14.70
P. R. Prenter			14		189		10		18.90
1, 10, 1101101	01				100		-0		10.70

#### MAGDALEN COLLEGE SCHOOL

The school's successes were achieved by team effort under the able captaincy of Jones, who was a stubborn batsman and safe wicket-keeper.

#### Played 13, Won 8, Lost 3, Drawn 2

Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
. 12		2		367		94*		36.70
. 12		1		249		41		22.63
. 9		2		116		32		16.57
. 10		0		154		46		15.40
. 12		2		125		40*		12.50
Overs	M	aiden	is	Runs	V	Vickets	3	Average
. 138.4		38		331		35		9.45
		18		332		22		15.09
		23						17.09
. 62.3		10		213		12		17.75
	. 12 . 12 . 9 . 10 . 12 . 12 . Overs . 138.4 . 107 . 79.1	12 12 9 10 12 Overs M . 138.4 107	. 12 2 . 12 1 . 9 2 . 10 0 . 12 2 . 2 . 2 . 2 . 38 . 138.4 38 . 107 18 . 79.1 23	12 2 12 1 9 2 10 0 12 2 Overs Maidens 138.4 38 107 18 79.1 23	12     2     367       12     1     249       9     2     116       10     0     154       12     2     125    Overs Maidens Runs  138.4  38  331  107  18  332  79.1  23  188	12 . 2 . 367	12     2     367     94*       12     1     249     41       9     2     116     32       10     0     154     46       12     2     125     40*    Overs Maidens Runs Wickets  138.4  38  331  355  107  18  332  22  79.1  23  188  11	12     .2     .367     .94*       12     .1     .249     .41       .9     .2     .116     .32       .10     .0     .154     .46       .12     .2     .125     .40*    Overs Maidens Runs Wickets  138.4  38  331  35  .107  18  332  22  .79.1  23  188  11

#### MALVERN COLLEGE

Malvern were at their best when set to score against the clock. Davies led his side well and set an excellent example in the field. The batting feature was the steady improvement of Wilcox, while Shatrushalyasinhji, a nephew of K. S. Duleepsinhji, made good use of his ability to bowl off-breaks at an unusually speedy pace.

Played 14, Won 6, Lost 1, Drawn 7

Public	School	Cricket	in	1957
--------	--------	---------	----	------

Batting								
Innin	gs N	lot ou	ts	Runs	His	hest in	ins	Avonos
J. W. T. Wilcox 16	5	5		377		60*		Average 34.27
†J. M. Davies 17		2		462		100		30.80
R. Devereux 16	5	3		376		111*		28.92
I. D. Preston-Jones 17		1		422		85		26.37
H. J. Bailey 8	3	1		166		48	::	23.71
M. K. S. Shatrushalyasinhii 10		3		166		74*		23.71
P. G. Jagger 11		2		198		44		
M. J. Theobald 8		2		122		41*		22.00 20.33
						.,		20.55
Bowling					Ä.			20.33
Over								
M. K. S. Shatrushalyasinhji 205	rs M	Taiden 42		Runs	V	Vickets		Average
M. K. S. Shatrushalyasinhji 205 N. C. Naumann 200	rs N		S		V	Vickets 42		Average 15.11
M. K. S. Shatrushalyasinhji 205 N. C. Naumann 200 H. J. Bailey 69	rs N 5.3	42	s	Runs 635	V	Vickets 42 31		Average 15.11 16.96
M. K. S. Shatrushalyasinhji 205 N. C. Naumann 200 H. J. Bailey 69 P. G. Jagger 315	rs M	42 55	s 	Runs 635 526	v	Vickets 42 31 11		Average 15.11 16.96 17.81
M. K. S. Shatrushalyasinhji         205           N. C. Naumann         200           H. J. Bailey         69	rs M 5.3 0.5	42 55 23	s 	Runs 635 526 197 732	V	Vickets 42 31 11 33		Average 15.11 16.96 17.81 22.18
M. K. S. Shatrushalyasinhji 205 N. C. Naumann 200 H. J. Bailey 69 P. G. Jagger 315	rs M 5.3 0.5	42 55 23 113	s 	Runs 635 526 197	v	Vickets 42 31 11		Average 15.11 16.96 17.81

#### MANCHESTER GRAMMAR SCHOOL

With only three regular members of the 1956 side available, Manchester Grammar School experienced a moderate season. Green was the most accomplished and successful batsman. Humphries and Hanner, the opening bowlers, worked hard and Green and Hambleton gave most support as change bowlers. DI 110 W 0 T

Batting	iyed 19,	Woi	n 8, L	ost 6	, Drawn	1 5			
	Innings 16 16 17	N	ot our 2 2 1	ts	Runs 502 317 292	Hig	thest in 120 53* 63	nns.	Average 35.85 22.64 18.25
Bowling									
	Overs	M	aiden	S	Runs	V	Vicket	S	Average
K. Hanmer	140		40		243		22		11.04
A. Humphries	182.5		61		364		29		12.55
D. M. Green	122.4		32		312		23		13.56
B. Whetton	76		14		225		15		15.00
G. Hambleton	140		21		339		20		16.95

#### MARLBOROUGH COLLEGE

Weak bowling, for which good fielding and throwing could not compensate, largely accounted for a disappointing season. If the batting did not come up to expectations Morris and Pyemont shaped well on occasions, and Goodfellow played attractively. Goodfellow, the off-spinner, was the leading bowler, and at the end of the season S. H. Compton, a late arrival in the side who took nine wickets for 157, strengthened the opening attack.

Played 14,	Won 2,	Lost 4,	Drawn 8	,
------------	--------	---------	---------	---

Batting	myen 17,	W OIL	4, L	031 4	, Drawn	0			
	Innings	No	t out	s	Runs	Hig	hest in	ns.	Average
P. Pyemont	. 10		4				63*		39.50
C. A. Morris	. 14		2		222	00.0	112*		28.25
A. Goodfellow	. 14		0		330		70		23.57
J. J. Hall-Smith	. 12		1	1	224		74		20.36
†B. A. C. Marr			1		247		52*		19.00
J. W. Flecker	. 10		0		112		27		11.20

Bowling	Overs	aidens	Runs	V	lickets	5	Average
A. Goodfellow	146.1	 43	 407		25		16.28
C A Morris	58.4	 13	 195		10		19.50
p I Bell	163.2	 46	 382		16		23.87
C. R. Reiss	159.4	 38	 431		13		33.15

#### MERCERS' SCHOOL

## Played 16, Won 2, Lost 10, Drawn 4

Batting T. Kay	. 16	Not outs 1 1 0 5	Runs 207 271 226 172	Highest inns 49 51 41 34*	Average 23.00 18.06 16.14 15.63
Bowling  F. A. Robson †P. W. J. Tabert N. C. H. James	. 89.5	13	Runs 440 296 517	Wickets 24 15 26	Average 18.33 19.73 19.92

#### MERCHANT TAYLORS' SCHOOL

# Played 14, Won 6, Lost 5, Drawn 3

Batting  D. D. Phelps C. F. Worrell D. E. Sidwell W. F. Urmson N. W. Griffin S. C. Smails †C. G. F. Harding	11 14	1 1 3 1 2	Runs . 312 . 215 . 230 . 166 . 139 139	Highest inns	Average 28.36 17.91 17.69 16.60 13.90 11.58 12.25
B. J. Northcott C. W. S. Matts LD. R. Newhouse	210.3	35	Runs 716 525 453	Wickets 51 28 23	Average 14.03 18.75 19.69

# MERCHANT TAYLORS' SCHOOL, CROSBY

#### Played 15 Won 8 Lost 1. Drawn 6

Pli	ayea 15,	WOI	10, 1	Jot 1,	Diami	0			
Batting	Innings	No	ot out	S	Runs	High	hest in	ns.	Average
	15		1		396		75		28.28
I. A. Corless	0 /		2		165		44*		27.50
J. Dowler					317		50		26.41
†R. W. T. Myall			3						21.86
W. A. Davies	15		0		328		62		
A. Veevers	11		3.		137		29		17.12
B. St. J. Birchall			2		199		41*		16.58
D. J. Roberts	10		0		193		32		16.08
D. J. RODEITS									
D. 1									
Bowling	0	3.4	aiden		Runs	V	Vickets	,	Average
	Overs	IVI					50		8.78
B. St. J. Birchall			69		439			• •	9.68
E. A. Field	109		36		213		22		
F. R. H. Birchall			30		307		24		12.79
A. Veevers			26		333		15		22.20
			22		270		11		24.54
T. G. Bennett	. 1								

Ratting

Batting

#### MERCHISTON CASTLE SCHOOL

Merchiston lost only to Fettes in school matches, Boyle scoring over 600 runs for the second successive year.

Played 15, Wo	4. Lost	2. Dr	nwn 9
---------------	---------	-------	-------

Batting	.,		, -		,				
	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
†J. M. Boyle	16		6		628		74*		62.80
R. D. Morton	15		3		349		53		29.08
I. M. McLauchlan			3		282		76*		25.63
W. A. M. Crow	12		2		227		65		22.70
J. A. S. Tuill	13		1		152		23		12.66
J. P. Jackson	11		2		103		25		11.44
Bowling									
	Overs	M	aiden	IS	Runs	V	Vickets		Average
B. R. Donald			24		121		12		10.08
G. L. Maguire			19		148		14		10.57
R. D. Morton			63		446		39		11.43
W. A. Forbes	112		31		235		18		13.05
I. M. McLauchlan	211		59		476		23		20.69

#### MILLFIELD SCHOOL

#### Played 11, Won 7, Lost 1, Drawn 2, Abandoned 1

Datting	T	-			-	***			
	Innings	N	ot ou	ts	Runs	Hig	hest in	ıns.	Average
A. A. Hoodbhoy	. 9		4		347		62		69.40
J. C. Taylor	. 8		3		264		61*		52.80
W. G. M. Craig			0		314		71		28.54
Th. de Z. Adhihetty			1		130		60*		26.00
F. J. Herting	. 9		1		118		35		14.75
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets		Average
F. J. Herting	. 105.2		32		233		28		8.32
J. C. Taylor			29		217		15		14.46
C. G. Hutchinson			23		294		17		17.29
G. S. Little	. 74.4		15		225		11	-	20.45

#### MILL HILL SCHOOL

A strong and determined batting side was almost able to off-set unpenetrative though steady bowling.

# Played 13, Won 2, Lost 4, Drawn 7

Dutting	Innings	N	ot ou	ts	Runs	Hig	hest in	nns.	Average
J. R. Ivens	. 12		3		238		46*		26.44
†K. L. H. Smith			4		185		51		26.42
K. L. Thomas	. 13		1		301		73		25.08
J. M. Bunyard	. 13		1		295		52		24.58
T. J. Lee			0		211		57		23.40
P. B. Armitage	. 12		2		181		43		18.10
R. H. Goude			1		202		49		16.83
Bowling									
	Overs	M	aiden	ıs -	Runs	V	Vickets	S	Average
R. H. Goude	. 142.4		18		467		20		23.35
A. Scobie			19		259		10		25.90
F. M. N. Wills	. 215.2		42		675		23		29.34
M. R. Wollerton	. 111.2		16		401		12		33.41

#### MONKTON COMBE SCHOOL

Monkton Combe's improved record included a victory over Kingswood School for the first time since 1947. The batting was good all the way down the order, the most successful being Walton, a Colt with a wide range of scoring strokes.

Played 12,	Won 4, Los	t 2, Drawn	4, Abandoned 2
------------	------------	------------	----------------

Batting					-	***			
	Innings	N	ot ou	ts	Runs	High	hest in	ns.	Average
N. Walton	10		2	1	223		91		27.87
N. B. Matthewson	11		1		199		51		19.90
S. W. Sykes	10		2		147		52*		18.37
C. J. Chester	9		2		124		26*		17.71
C. P. C. Hunt	11		0		178		36		16.18
†I. H. Glasgow	11		2		121		31		13.44
Bowling	-				-	**	7.1-4-		A
	Overs	M	aider	18	Runs	M	lickets		Average
J. F. Woods	155.2		43		414		39		10.61
C. G. Reeves	92		21		271		18		15.05
I. H. Glasgow	114.3		17		389		21		18.52

#### NEWCASTLE ROYAL GRAMMAR SCHOOL

#### Played 17, Won 5, Lost 2, Drawn 10

Batting	т .	»T	,		D	TT			Avamana
	Innings	INC	ot out	S	Runs	High	nest inn	S.	Average
D. F. Taylor	11		4		182		61*		26.00
D. M. Dallas	13		4		224		87*		24.88
D. Beckham			2		126		47		21.00
H. Spall			2		200		31		20.00
M. I. Dickinson			2		231		60*		17.76
M. M. Oakley			1		151		50		16.77
M. Floyd			2		185		45		15.41
N. White			1		180		45		12.85
	The state of								
Bowling									
bouning	Overs	M	aiden	9	Runs	V	lickets		Average
J. R. Scott		111	40		479		42		11.40
B. R. Reid			30		610	1 - 1	36		16.94
D. R. Reid	193		50		010		50		10.51

#### NOTTINGHAM HIGH SCHOOL

#### Played 15, Won 2, Lost 3, Drawn 10

Batting							
	Innings	N	ot out	S	Runs	Highest inns.	Average
R. G. Moore			3		371	74	37.10
N. Bishop			4		357	74	35.70
J. E. Chambers	15		1		284	43	20.28
			1		227	50	17.46
D. C. Slater			1			41	10.27
K. A. Bancroft	12		1		113	41	10.27
Bowling							-periodile
Bowling	Overs	M	aiden	S	Runs	Wickets	Average
		M	aiden 35	S	Runs 557	Wickets 25	Average 22.28
A. W. Cavender	208.1	M 					
A. W. Cavender J. W. Taylor	208.1 168.2	М 	35 24		557 577	25	22.28
A. W. Cavender	208.1 168.2 97	M 	35		557	25 25	22.28 23.08

# Public School Cricket in 1957

#### OAKHAM SCHOOL

Played 14, Won 6, Lost 3, Drawn 5

Batting					The same		1237		
the sample white it	Innings	No	t ou	ts	Runs	Highest inns.			Average
L. A. Wilson	13		3		514		96*		51.40
†W. N. Houghton	14		2		510		93		42.50
J. M. Scorer			3		280		42		28.00
S. G. Schanschieff			1		301		67		27.36
J. H. Berry			2		104		37*		20.80
A. J. M. Betmead			2		130		46		14.44
C. T. Garton			0		140		41		14.00
C. I. Garton		•••							2
Bowling									
Downing	Overs	M	aider	18	Runs	V	Vicket	2	Average
R. G. Marrion		141	86		509		46		11.06
			27		435		27		16.11
W. N. Houghton			13	14	210	::	11	::	19.09
T. J. Case	The second second		29	10000	466	•••	20		23.30
A. J. M. Betmead	. 185.2		29		400		20		23.30

#### THE ORATORY SCHOOL

Played 15, Won 1, Lost 6, Drawn 8

Batting  L. C. Fynn M. H. Hasslacher N. Simpson †J. H. Hudson M. Creasy J. Townley	. 12 . 16 . 16	Not outs 2 1 1 0 0 3	Runs 525 268 271 228 158 100	Highest inns 94 72 40 54 27	Average 37.50 24.36 18.06 14.25 12.15 10.00
Bowling  J. Hawkes  J. H. Hudson  P. Sorapure	. 170	Maidens 15 30 32	Runs 264 609 400	Wickets 19 24 15	Average 13.89 25.37 26.66

#### OUNDLE SCHOOL

Oundle began badly by losing their first three matches on wet pitches. Minney, the best batsman, scored two early centuries and received steady support from Reddaway. Stephens showed promise in his first year. Saul (the captain), medium-paced left-arm, was the spearhead of the attack in which Crabbe was useful with the new ball and Wilson bowled leg-breaks skilfully.

Played 14, Won 3, Lost 4, Drawn 7

P. B. Reddaway J. H. Minney N. M. Stephens C. F. Hacking P. D. T. Crabbe S. B. Cartledge	16 16 12 13	No	ot out: 4 0 4 1 1 1	S	Runs 244 644 454 224 151 173	Hig	hest in 62 105 96* 70 48 35*	ns.	Average 40.66 40.25 37.83 20.35 12.58 12.35
Bowling  K. Wilson	236.2	Ma  	28 56 42 28	s  	Runs 418 705 585 368	. V	Vickets 25 38 26 16		Average 16.72 18.55 22.50 23.00

#### PERSE SCHOOL

With several batsmen of more than average competence and no tail, Perse scored heavily, and lost only two matches out of nineteen, but only four were won, for the catching was unreliable. Islip bowled fast with consistent hostility, and Stone spun his off-breaks sharply.

Played 19, Won 4, Lost 2, Drawn 13

Batting	T	NT.	-4	+-	Duna	TI	20	Average	
	Innings	111	ot ou	LS	Runs	rig	hest in		
A. S. Crawford	19		3		606		91		37.87
E. L. Kemp			2		632		106*		37.17
J. W. Huckle			4		334		80		33.40
D. G. Earl			4		211		80		30.14
N. P. R. Blyth			6		285		53		28.50
I. R. F. Gordon	10		3		266		54		17.73
K. J. Hardingham			1	-	147		52		12.25
K. J. Hardingham	13		1		1.,			•	12.20
n 1'									
Bowling	0	**			D	77	Vickets		Arionogo
	Overs	IVI	aiden	IS	Runs	Y			Average
I. A. R. Stone	142		34		403		33		12.21
†I. A. Islip			38		618		42		14.71
T. D. Plumridge			13		288		15		19.20
I. R. F. Gordon			45		484		22		22.00
N. P. R. Blyth			7		342		12		28.50
14. 1. 14. Diytii	,,				- 12				

#### POCKLINGTON SCHOOL

Played 12, Won 4, Lost 2, Drawn 6

Batting					-					
	Innings	No	ot out	S	Runs	Hig	hest in	ns.	Average	
P. D. Briggs	13		1		285		53		23.75	
A. Atkins	9		2		108		24		15.42	
C. J. Berry			0		134		45		12.18	
J. A. Davies			0		114		45		11.40	
E. H. Green			1		125		35*		10.41	
Bowling										
	Overs	M	aiden	S	Runs	V	Vickets	,	Average	
P. W. Train	105		29		204		28		7.28	
J. M. Norris			34		458		39		11.74	
P. D. Briggs			12		235		14		16.78	
I. S. Bird			20		331		18		18.39	

# QUEEN ELIZABETH GRAMMAR SCHOOL, WAKEFIELD

Played 16, Won 7, Lost 2, Drawn 7

Batting	iyeu ro,	,, 0,,	., –						
	Innings	No	ot out	S	Runs	Hig	hest in	ns.	Average
F. Green	15		2		573		94		44.07
†T. Cass	16	100	1		290		46*		19.33
R. A. Dyson			1		270		64		18.00
A. B. Holdsworth	14		8		106		28*		17.66
J. M. Bromley			1		212		68		16.30
M. J. Scott	16		Î		155		22		10.33
Mar de Deott	-								
Bowling									
Southing	Overs	M	aiden	S	Runs	V	Vickets		Average
R. A. Dyson	0		37		210		26		8.07
K. M. Young			60		250		30		8.33
J. H. Holt	185		59		373		44		8.47
D. Pryor	95		36		177		20		8.85
	20								

#### RADLEY COLLEGE

Radley lost only to the Authentics. In a strong batting side Mackeown, who hit ten fifties, and Morkill were outstanding. The bowling was not quite penetrative enough on the hard pitches of May and June, but Morkill and Wigley were steady openers. Lane, a useful all-rounder, was brilliant in the field.

Played	15.	Won 5	Lost 1	, Drawn 9

	Innings	Not outs			Runs	His	hest in	Average	
P. J. Mackeown	. 16		3		816		87		62.76
†T. W. Morkill	. 16		3		463				35.61
J. R. Russell	. 15		1		426		75		
P. H. Raby	. 16		1		400		93		
I. L. J. Stevens	. 7		1		140		40		23.33
R. D. Freshman					249		59		22.63
R. A. Lane	. 11		5		129		64		21.50

#### Bowling

Batting

	Overs	M	aiden	S	Runs	V	Vickets	3	Average
R. A. Lane	107		32		268		17		15.76
I. L. J. Stevens	143.1		55		284		18		
M. D. Wigley					494		28		17.64
T. W. Morkill					487		27		18.03
J. F. Fuller-Sessions	128		40		316		14		22.57

#### READING SCHOOL

#### Played 15, Won 7, Lost 5, Drawn 2, Tied 1

Batting									
	Innings	No	t out	ts	Runs	His	hest in	ins.	Average
P. A. Merrett					404				36.72
A. P. Sadler					347		91		24.78
R. M. Owen					334		75*		23.85
R. A. Ruskin					187		66		20.77
C. D. C. Councell					109		47*		15.57
A. Cooper			1		172		65		13.23
D. I. Hill	. 15		0		197		41	1	13.13

# Bowling

	Overs	Maidens			Runs	Wickets			Average
M. Phillips	22.3		3		63		10		6.30
P. A. Merrett	170		45		414		41		10.09
A. P. Sadler					281		19		14.78
R. A. Ruskin					506		34		14.87
J. A. Thompsett	120		32		225		14		16.07

#### REPTON SCHOOL

In the 400th year of the school, Repton lost only one match, by three wickets to the Derbyshire Club and Ground. Vaughan led a particularly young side admirably. The batting was somewhat brittle, but Warner's last four innings brought him 300 runs and Vaughan made runs when wanted, though on the whole he had a discussivity with the wind the school of whole he had a disappointing year. The bowling, supported by excellent fielding, was invariably accurate. Allen, left-arm slow, was the most successful and has two more years in the side.

# Played 18, Won 6, Lost 1, Drawn 11

Datting									
	Innings	Not outs			Runs	His	thest in	Average	
C. A. Fry			2		697		138*		41.00
C. S. Warner			1		444		91		37.00
†P. H. Vaughan			3		531		75		35.40
D. C. M. Vaughan			3		216		52		24.00
B. J. Hare			3		304		51*		21.71
R. F. Gresley			1		133		44		13.30

#### Bowling Overs Maidens Runs Wickets Average A. W. Allen ...... 314.2 .. 81 853 14.45 G. W. L. Foster ..... 147 42 325 .. 15.47 C. R. Pilkington ..... 66 218 15.57 .. .. J. J. W. Tomlinson . . . . 186 45 502 20.08

#### ROSSALL SCHOOL

A strong batting side was not dismissed entirely until the last match against Sedbergh, but the bowling depended too much on Reece. In his fifth year in the team Reece bowled his in-swingers untiringly and economically.

#### Played 11, Won 3, Lost 1, Drawn 7

Datting	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
J. S. Blower			4		194		52*		38.80
P. D. Stokes	. 9		6		100		39*		33.33
R. C. Fairbairn	. 10		3		216		40		30.85
R. Bennett	. 12		1		337		78		30.63
†M. J. Reece	. 11		0		335		82		30.45
G. M. Attenborough	. 12		1		323		65		29.36
							00		27.50

Bowling									
	Overs	M	aiden	S	Runs	1	Vicket	S	Average
M. J. Reece							48		14 64
R. B. Sinker	90.2	100	24	431	254		16		15.87

# R. C. Fairbairn . . . . . . 86.2 . . 21 G. M. Attenborough . . . 108 . . . 25 R. C. Fairbairn .....

#### RUGBY SCHOOL

After a slow start Rugby developed into a good side in July. T. B. L. Coghlan had a disappointing season, and Colville had a lean time between his good start and good finish to the term. Cuthbertson was a highly promising all-rounder at the age of 15.

#### Played 14, Won 3, Lost 5, Drawn 6 Datting

Datting									
	Innings	No	ot ou	ts	Runs	Hig	hest in	ins.	Average
P. R. Colville	. 16		2		440		68		31.42
A. G. L. Coghlan			2		317		68		22.64
M. F. Attenborough	. 11		0		214		53		19.45
J. O. Trumper	. 12		5		132		46*		18.85
J. L. Cuthbertson	. 8		2		109		33		15.57
P. D. Snell	. 14		0		242		40		17.28
S. J. Y. Robinson	. 13		2		147		47		13.36
T. B. L. Coghlan	. 11		1		127		42		12.70

#### Bowling

Ratting

	Overs	aider	Runs	1	Vickets	S	Average
J. L. Cuthbertson	131.3	 58	 258		22		11.72
A. G. L. Coghlan	118.4	 32	 313		21		14.90
S. J. Y. Robinson	168.1	 26	451		23		19.60
J. O. Trumper	98	 14	 290		13		22.30

Dattina

D . ...

#### RUTHIN SCHOOL

Ruthin's season was a triumph for their captain, Neil-Dwyer, who carried the batting and whose wicket-keeping was of a particularly high standard.

Played	16	Won	8	Lost	5	Drawn	3

Batting									
	Innings	No	ot ou	ts	Runs	Hig	hest in	ins.	Average
†G. Neil-Dwyer	. 16		5		593		111		53.90
N. S. Casson			2		263		49		18.78
P. B. Schofield	. 16		1		243		74		16.20
R. G. L. Williams	. 13		2		174		35*		15.81
R. Carlile	. 12		3		134		69		13.88
D. L. Whiteley	. 15		1		160		46		11.42
A. J. Falconer	. 14		1		100		30*		7.69
September 12 to 12									
Bowling	_				-				
	Overs	M	aider	IS	Runs	V	Vicket	S	Average
A. J. Falconer			31		259		36		7.19
I. S. Thelwell			30		217		24		9.04
R. E. G. Jones			21		197		20		9.85
P. B. Schofield	. 193.5		57		454		44		10.31

#### RYDAL SCHOOL

Rydal ended their season with a great win by ten wickets against the M.C.C. The medium-pace Thomas with seven for 22 had the M.C.C. out for 70, and the captain, C. D. Pighills, and Fish hit off the runs. Throughout the season Dale batted with great resolution and obvious signs of class.

#### Played 11, Won 4, Lost 3, Drawn 4

J. H. Dale	. 11	::	ot our	 Runs 334 251 190		81 46*		Average 37.11 27.88 23.75
Bowling R. M. H. Thomas	Overs		aiden 43	Runs 435	V	Vicket:	3	Average 14.03
D. C. Jones	. 65		12	 203 448	::	11 19		18.90 23.57

#### ST. BEES SCHOOL

Results tended to flatter St. Bees. There was inadequate batting support for the Hewitson brothers, who scored nearly half the runs, and the spin bowlers, Bell and Boulter, suffered in the same way, while the fielding fell below the standard of previous years.

#### Played 11, Won 6, Lost 3, Drawn 2

†W. N. Hewitson J. R. Hewitson J. A. Ingham M. Scott	. 11	Not outs 2 2 0 0	Runs 251 246 137 108	Highest inns 100* 57* 43 45	Average 31.37 27.33 19.57 10.80
Bowling M. W. R. Bell	Overs	Maidens 26	Runs 309	Wickets 26	Average 11.88
H. J. Boulter		12	324	24	13.50

#### ST. DUNSTAN'S COLLEGE

The team failed on several occasions to exploit a favourable position. Matten scored consistently throughout the season, his 102 not out against Wilson's at The Oval being a particularly fine performance.

#### Played 15, Won 5, Lost 3, Drawn 6, Abandoned 1

Batting									
patting	Innings	N	ot ou	ts	Runs	Hig	hest ir	ins.	Average
C. Matten	1		2		490		102*		40.83
N. A. Dolder			1		262		65		23.81
A. J. Asbridge			4		104		31		20.80
†E. Marsh			2		242		59		20.18
D. S. Clift			3		183		40		18.30
R. L. Hoberaft			2		139		33		12.63
M. A. Wright			0		166		34		11.98
M. II. Washington									
Bowling									
bound	Overs	M	aiden	S	Runs	V	Vicket	S	Average
D. S. Clift			17		234		19		12.31
D. Landon		Dine.	18		342		25		13.68
N. A. Dolder			40	the sale	296		20		14.80
C. E. Dixon			11		216		10		21.60
N. T. Bradley			31	25	347		14	-	24.78

## ST. EDWARD'S SCHOOL, OXFORD

Some of the most promising cricketers in the side will still be available in 1958, including Trotman, the most likely batsman, Davis, a left-arm slow bowler, Appleby and Tyacke. Dale was not only a good captain but also a fielder in a class on his own.

#### Played 16, Won 4, Lost 4, Drawn 8

batting	· ·	**			D	TT:	1		A
	Innings	IAG	ot ou	ts	Runs	Hig	hest in	ins.	Average
J. N. Tyacke	. 10		7		111		27*		37.00
J. D. Davis			2		425		85		26.56
T. W. Brett			0		469		101		26.05
E. A. Appleby			7		194		50*		24.25
M. A. Trotman			0		419		64		23.27
†H. Dale	. 18		0		345		72		19.16
J. H. Fletcher			0		246		71		16.40
D. G. Davis			2		193		37		13.78
J. D. G. Hancock	. 15		1		156		28		11.14
Bowling									
	Overs	M	aider	18	Runs	1	<b>Vickets</b>	3	Average
A. R. N. Appleby	. 132.4		33		347		22		15.77
D. G. Davis	. 198.2		41		553		27		20.48
C. H. Shirley	. 117		23		336		15		22.40
J. N. Tyacke	. 200.5		37		584		24		24.33
M. A. Trotman	. 142.3		16		481		18		26.72
E. A. Appleby			11		391		14		27.92

#### ST. LAWRENCE COLLEGE

The two most talented batsmen, de Saram and Prior, in a well-balanced side temain for next season. Both were essentially attacking players though as yet with defensive flaws. Thomas led the side well and made good use of his left-arm googly type bowling. Hodder's defensive batting was of much value to the side.

Played 14, Won 5, Lost 4, Drawn 5

Batting

Batting

J. S. Irvine.....

R. L. Thomas 107.2 8 M. P. M. Watson 159.3 43 G. N. de Saram 97.3 19

Public School Cricket in 1957	PI	ublic	School	Cricket	in 1957
-------------------------------	----	-------	--------	---------	---------

Batting								
	Innings	Not out	S	Runs	Hig	shest in	ns.	Average
M. F. Hodder	13	8		263		49*		52.60
G. N. de Saram	14	2		313		123*		26.08
†R. L. Thomas		1		282		57*		23.50
A. R. M. Watson		4		161		62		23.00
D. C. L. Prior		1		294		72*		22.61
R. A. G. Marshall		0		228		64		17.53
Bowling								
Dowling	Overs	Maiden		Runs	1	Wickets		Average
M. G. Hill	100	27		346		24		14.40

#### ST. PAUL'S SCHOOL

395

389

20

Runs Highest inns. Average

Date:

16.33

18.80

19.45 33.70

Although Neate and Sperryn laid the foundation for numerous good scores, the bowling was not good enough to support their excellent efforts. Francis, who was quick and persevering, was the only class bowler. Both Neate and Francis remain for next season, when there is the prospect of a better record.

Played 13, Won 1, Lost 6.	Drawn 6
---------------------------	---------

2	Innings	No	ot ou	ts	Runs	Highest inns.			Average
F. W. Neate	. 13		1		619		151*		51.58
†A. N. Sperryn			2		372		65		33.81
A. R. Crabtree			3		143		29*		20.43
D. O. Hilton			0		221		54		18.41
M. M. Flett			1		197		33		16.41
C. A. Murray			0		194		61		14.92
P. P. McCowen			2		145		36*		14.50
Bowling					-				
	Overs	M	aider	18	Runs	,	Wickets	3	Average
D. O. Francis	. 173.4		38		487		34		14.32
D. Hunkin	. 105		23		259		12		21.58
A. D. Grimes	. 105		28		292		13		22.46
A. R. Crabtree	. 145.1		31		436		18		24.22

#### ST. PETER'S SCHOOL, YORK

St. Peter's lost only one match against a club side in the final week of term. Much credit for their success must go to the captain, Kirby, for his leadership and fine all-round cricket.

#### Played 14, Won 7, Lost 1, Drawn 6

Innings Not outs

†D. Kirby A. McCallum J. F. Middleton D. B. Irvin J. J. F. Knapton J. A. Bygate	13 14 13 12 12 11		3 1 1 1 3 0		529 413 280 232 182 214		132* 127 77* 44 69* 56		52.90 31.76 23.33 21.09 20.22 19.45
Bowling	Overs	M	aiden	ıs	Runs	V	Vickets	3	Average
†D. Kirby			67		446		47		9.48 11.73
J. F. Middleton			36 32		305 345		26 20	::	17.25
P. B. Burbidge S. J. S. Wroe	1010		34		271		12		22.58

#### SEDBERGH SCHOOL

Bad weather seriously interfered with Sedbergh's season and prevented a useful team from developing its full strength. The batting was good far down the side, and three centuries were scored, while there was ample variety in the bowling.

#### Played 11, Won 4, Lost 2, Drawn 5

Batting									
	Innings	No	ot out	ts	Runs	Hig	thest in	ns.	Average
tC. G. Midgley	10		4		469		103*		78.16
T. P. Goodman	7		3		187		45		46.75
M. R. Grundy	8		1		309		111		44.14
M. W. Broadbent	9		1		197		67*		24.62
R. N. Swarbrick	6		0		131		48		21.83
J. D. Dorman	10		0		137		53		13.70
Bowling									
bonning	Overs	M	aiden	S	Runs	1	Wickets		Average
I. R. Miller	4 4		39		361		28		12.89
H. M. S. Holme			22		371		22		16.86
J. Walker			30		253		15		16.86

#### SHERBORNE SCHOOL

A young, inexperienced side had a poor season. The batting relied too much on Brookes, who had a fine record, and the bowling on the left-arm spin of Curtis and the off-breaks of Yeldham. Pegg kept wicket excellently.

#### Played 12, Won 1, Lost 4, Drawn 7

Batting									
	Innings	No	ot ou	ts	Runs	High	hest in	nns.	Average
M. C. Brookes	. 13		1		374		74*		31.16
C. R. J. Pink	. 9		1		139		51		17.37
D. B. Hill			3		169		50		16.90
R. M. Morgan			1		152		54		16.88
R. J. A. Hughes			Ô		205		39		15.76
J. A. D. Curtis			3		100		29		12.50
S. T. O. Shirley			Õ		122		40		12.20
s. I. O. Billiej	. 10	•		• •	122				12.20
Bowling									
DOWNING	Overs	M	aider	10	Runs	' XX	Vicket	0	Average
1170		TAT		19				3	
J. A. D. Curtis	. 212.3		61		625		34		18.38
C. W. Yeldham	. 233.5		59		644		24		26.83
							11		30.90
C. R. J. Pink	. 125		38		340		11		30.90

#### SHREWSBURY SCHOOL

Weak batting inevitably produced a sorry record. It fell away badly after a promising start to the term, and the individual batsmen lost confidence in themselves. Happily the fielding was excellent and the opening bowling of Owen-Hughes was outstanding. His 50 wickets represented a high-class performance. Macaulay and Holden gave him good support.

Played 12, Won 1, Lost 4, Drawn 7

							Batting	Battin
Highest inns. Average	uns	Ri	ts	ot ou	N	Innings		
64 15.64	219	2		0		. 14	†A. J. Cordle	†A. J.
63 14.64	205	2		1		. 15	D. P. Pearson	D. P.
27 14.28	100	1		0		. 7	J. S. Ker	J. S. 1
45* 13.18	145	1		2				
46 13.00	182	1		1		. 15	T. A. J. Nicholson	T. A.
46 12.53	163	1		1		14	W. L. Ward	W. I.
29 10.91		-		î		13	D. I. Wright	D. I.
63 14.6 27 14.2 45* 13.1 46 13.0 46 12.5	205 100 145	1 1 1 1		1 0 2 1 1		. 15 . 7 . 13 . 15 . 14	D. P. Pearson J. S. Ker A. J. Garden T. A. J. Nicholson W. L. Ward D. L. Wright	D. P. J. S. J A. J. T. A. W. L.

Bowling	Overs	M	aiden	S	Runs	V	Vicket	S	Average
H. G. Owen-Hughes	210.5		48		533		50		10.66
A. Holden	117.2		26		336		23		14.61
A. T. Macaulay	160.3		37		433		27		16.03

#### SOLIHULL SCHOOL

The captain, Stratford, and Lea usually gave Solihull a good start, but the middle batting was unreliable. The bowling was fair and was supported by keen fielding, but the side lacked an opener of real pace.

#### Played 12, Won 3, Lost 4, Drawn 5

Batting	Innings	NIO	t out		Runs	Hic	hest in	na	Avianasa
		140				ing			Average
†D. Stratford	. 12		0		346		56		28.83
C. J. Lea	. 12		0		315		62		26.25
R. A. D. Cooper			1		204		41		20.40
P. J. W. Taylor	. 12		0		202		72		16.83
C. J. Thomas			3		104		25		13.00
R. N. Stober			1		122		42		12.20
Bowling									
	Overs	Ma	aiden	S	Runs	V	Vicket	S	Average
C. J. Thomas	. 109		27		298		24		12.41
A. J. Hames			21		400		22		18.18

#### STAMFORD SCHOOL

A young and rather inexperienced eleven did well in club matches but failed to do themselves justice against other schools. The consistent batting of Watson was the season's chief feature.

#### Played 11, Won 4, Lost 6, Drawn 1

D. L. Watson	. 11	::	ot ou 0 0 2 1	 Runs 261 336 227 122	Hig	hest in 78 101 75 32	nns.	Average 32.62 30.55 25.22 15.25
Bowling  D. L. Watson G. F. Allen R. White J. A. H. Mitchell	. 75 . 121		aider 8 12 25 33	  Runs 204 290 425 432	 	Vicket 10 12 15 15	· · · · · · · · · · · · · · · · · · ·	Average 20.40 24.16 28.33 28.80

## STONYHURST COLLEGE

The features of a season which began well with three wins in the first six matches before the July rains were the all-round play of Cheetham and Corbett and the excellent wicket-keeping of Moorhouse.

## Played 13, Won 4, Lost 2, Drawn 7

Batting	Innings	Not outs	Runs	Highest	Average	
S. Maxwell-Scott		3	218	52		27.25
M. T. Corbett	. 9	0	241	76		26.50
†C. P. Cheetham		4	106	33		13.25
P. Moorhouse	0	0	106	30		12.62
I. Shuter	. 9	1	101	21		

Bowling	Overs	M	aiden	S	Runs	V	Vickets	3	Average
C. P. Cheetham M. T. Corbett	88.5 175.3	::	17 31		293 393		28 32	• • • • • • • • • • • • • • • • • • • •	10.46 12.28
T. Drake-Lee	140.5		37		368		14		26.28

#### STOWE SCHOOL

Stowe had limited success. The bowling was generally adequate, but the batting was most uncertain.

# Played 12, Won 3, Lost 5, Drawn 4

Batting J. H. Harris C. J. G. Atkinson R. Sherjan G. Harwood G. M. Shaw	12 12 12	Not	outs 1 0 4 0 1	 Runs 282 227 136 193 145	High	50 55 42 33 40	ns.	Average 25.63 18.91 17.00 16.08 14.50
Bowling  J. H. Harris	. 111.3		idens 39 38 22 24	 Runs 271 249 359 297	 	7ickets 23 16 23 19		Average 11.78 15.56 15.60 15.63

#### STRATHALLAN SCHOOL

## Played 14, Won 3, Lost 5, Drawn 6

Batting G. T. Hudson †W. R. Galbraith A. W. Beattie D. C. Duncan	15 16	No	ot out 4 2 1 1	 	Runs 360 277 267 163	High	nest in 89* 51* 46 30*	ns	Average 30.00 21.30 17.80 12.53
Bowling  W. R. Galbraith  M. S. Jamieson  B. D. C. Watts	172	M:	aiden 5 52 32	s 	Runs 147 328 309		Vickets 16 41 22		Average 9.18 9.46 14.04

#### TAUNTON SCHOOL

Taunton, ably captained by Gray, were particularly strong in batting, scoring over 200 runs on five occasions. The bowling was not so successful, though C. H. Webb was difficult to score off.

# Played 15, Won 4, Lost 4, Drawn 7

Ratting

G. V. H. Cameron fJ. B. Gray D. F. Miller M. G. Peaker R. P. Lewis	. 13	Not	outs 2 1 2 2 0	Runs 370 399 205 199 275	High	00	22 62
Bowling	Overs		dens	Runs	V	Vickets	Average 17.38
R. P. Tarr			15	226		13 .	18.08
D. J. Mantell			4	457	::	24 .	19.04
C. H. Webb	1774		26	543		27 .	. 20.11

Pul	blic	School	Cricket	in	1957
-----	------	--------	---------	----	------

#### TONBRIDGE SCHOOL

With better batting support for Prideaux, Tonbridge would have had a really good side. Time and again a balanced attack gave the batsmen chances which they did not take. Meredith at medium-pace and Hudson, a leg-spinner, bowled particularly well. Prideaux, a mature player, made runs consistently.

Played	12, Wor	5, Lost	4, Drawn 3
--------	---------	---------	------------

Batting				
Inning	s Not outs	Runs	Highest inns.	Average
†R. M. Prideaux 13	2	485	106*	44.09
R. H. C. Page 10	2	176	59*	22.00
P. Rylands 14	2	257	88	21.60
J. H. Foskett	0	205	36	15.76
R. M. Giles 13	1	160	50*	13.33
M. S. Connell 12	0	. 138	32	11.50
Bowling				
Over	s Maidens	Runs	Wickets	Average
P. Meredith 238	75	531	44	12.06
A. B. E. Hudson 163	31	497	33	15.06
R. M. Giles 139	19	. 362	21	17.23
D. J. Evans 90	17	. 264	15 .	17.60
R. H. C. Page 118	36	. 326	17 .	. 19.17

#### TRENT SCHOOL

Trent's record barely did them justice, for they narrowly failed to win four of the drawn games. Norgrove, a stylish and aggressive opener, was particularly noticeable as a newcomer to the side. The batting generally was good, and Blakeley, fast and accurate, was the spearpoint of a useful attack.

#### Played 13, Won 5, Lost 1, Drawn 7

Batting					
	Innings	Not outs	Runs	Highest inns.	Average
R. J. Holden	. 13	4	255	61	28.34
M. W. Norgrove	. 13	1	324	57	27.00
G. T. Foster	. 13	1	275	61	22.91
E. J. Bows		0	214	34	16.46
†A. K. Blakeley		0	156	52	15.60
J. W. Smalley		2	128	21	12.80
Bowling					
Downing	Overs	Maidens	Runs	Wickets	Average
A. K. Blakeley	. 181.2	54	445	40	11.12
R. L. Strickland		42	217	14	15.50
R. J. Holden		33	227	14	16.21
R. A. S. Everett		16	184	11	16.72

#### TRINITY COLLEGE, GLENALMOND

On hard wickets the eleven were unbeaten until June 18, but on the softer pitches later the batting became unsound. The spin bowling was effective, particularly that of Macpherson, the fielding and throwing uniformly good, and the wicket-keeping of C. H. Kennedy excellent. He caught 11 and stumped 11.

## Played 18, Won 3, Lost 5, Drawn 10

Batting	Innings	No	t out	S	Runs	Hig	hest in	ıns.	Average
J. L. Macdonald			2		359		61		23.93 15.93
A. C. Fairbairn			2		239		47		14.11
M. K. Fairbairn			3		127 225		32* 56	::	13.23
†D. H. Macpherson		• •	1		131		29	• • •	11.90
S. F. Martineau C. I. Emmerson		::	5		88		15		11.00
K. B. D. Aitken			0		119		45		10.81

Bowling	Overs	M	aiden	S	Runs	V	Vicket	s	Average
p. H. Macpherson	180		37		477		49		9.73 10.47
J. W. Black			40		199	• •	13		12.38
C. I. Emmerson A. C. Fairbairn		::	45		452		34		13.29

#### TRINITY SCHOOL, CROYDON

## Played 15, Won 2, Lost 5, Drawn 8

†G. R. Symons A. V. L. Williams J. Tait K. G. Manley S. E. Reid	Innings 14 7 14 14 12	No	ot out 2 1 3 1 2	ts	Runs 291 110 197 225 141	Hig	hest in 49 34 43* 37 33*	ns.	Average 24.25 18.33 17.90 17.30 14.10
P. B. Smith	192.3 74.5 144.5	M	23 58 13 39 23	 	Runs 136 435 184 336 362	 	Vickets 13 32 13 22 21		Average 10.46 13.59 14.15 15.27 17.23

# UNIVERSITY COLLEGE SCHOOL

On unreliable pitches the batting of the school team inevitably suffered, but Anderson and Jones promised well as batsmen for next season.

# Played 13, Won 4, Lost 7, Drawn 2

C. D. Elston	11		ot out 2 1 0	s 	Runs 235 148 170	High	58* 47* 60	• •	Average 21.36 14.80 14.16
Bowling	Overs	M	aiden	s	Runs	V	Vickets		Average
P. J. Meader	138.5				264 434 278		25 35 13		10.56 12.40 21.88

#### UPPINGHAM SCHOOL

Uppingham's main strength lay in the bowling, with Waller outstanding. This was supported by excellent fielding and throwing, but although some good scores were made the batting was unreliable and caused the loss of two school matches which ought to have been won.

## Played 14, Won 3, Lost 4, Tied 1, Drawn 6

Batting	Jane 1916								
	Innings	N	ot out	e	Runs	Hig	hest in	ns.	Average
		140	2				100*		35.35
D. P. Green	16		4		495				
H. Raby	16		1		409		75		27.26
J. L. Watson	15		0		320		60		21.33
	15	•	1		291		67		20.78
E. L. Gothard			1				50*		20.07
M. S. Dorman	16		3		261		30.		20.01
•									
Bowling									
Downing	0	14	aiden		Runs	V	Vickets		Average
	Overs	IVI		15					10.89
M. G. Waller	256.1		69		643		59		
I. G. Phillips			24		147		11		13.36
A C TT 1			32		393		26		15.11
A. C. Usborne									19.07
J. W. Thompson	171		19		515		27		19.01

Public	School	Cricket	in 1957

# VICTORIA COLLEGE, JERSEY

Played 14, Won 3, Lost 5, Drawn 6

Batting									
	Innings	N	ot out	S	Runs	Hig	hest in	ns.	Average
P. J. B. LeBrocq	14		1		281		52		21.61
D. G. Carpenter	12		1		305		78*		27.72
F. R. Falle	14		2		181		58		15.08
A. O. Brown	11		8		176		41*		22.00
J. M. Gallichan	8		3		121		40		24.20
J. Tosterin	12		0		187		51		15.58
D. Ferguson	14		0		176		37		12.57
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets		Average
F. R. Falle	108.4		16		354	*	27		13.11
J. M. Gallichan	93.5		13		390		20		18.50
F. P. LeQuesne	92/		8		322		25		12.88
D. J. Watkins	99.6		21		338		21		16.09

#### WALLASEY GRAMMAR SCHOOL

Wallasey had their best post-war season. Two left-handers, Brown and Watkins, headed the batting. Watkins was also an outstanding cover-point, and at the wicket Brown had more than 20 successes. Atkinson with slow leg-breaks and Whitehead, a young and particularly promising fast bowler, carried the main attack.

#### Played 15, Won 10, Lost 4, Drawn 1

Batting									
	Innings	No	ot our	ts	Runs	Hig	hest in	ns.	Average
G. J. Brown	. 15		2		495		79		38.07
R. D. Watkins	. 13		4		323		76*		35.88
M. J. Walker			3		188		48		20.88
R. C. Steere			2		212		63*		19.27
†J. M. Atkinson			1		192		53		14.76
Bowling									
	Overs	M	aiden	S	Runs	V	Vickets	3	Average
J. M. Atkinson	. 169		42		427		51		8.37
R. E. Hill			19		117		12		9.75
C. G. Whitehead			50		507		48		10.56
B. E. D. Sutcliffe			34		291		13		22.38

#### WELLINGBOROUGH SCHOOL

Played 15, Won 3, Lost 7, Drawn 5

Datting	Innings	NI	ot ou	to	Runs	Hig	Average		
M Tabal		140	2	ıs	344	ing	69	1110.	26.46
M. Iqbal			1		292		63		24.33
J. D. Pember			2		266		51*		22.16
†M. J. R. Barker			1						14.64
I. Ross			1		205		24		13.50
B. R. Leadsom			1		162		42		13.23
D. A. Peck	. 15		0		198		69		13.23
Bowling					~				Aanaga
	Overs	M	aiden	IS	Runs	V	Vickets	3	Average 14.80
J. D. Pember			54		607		41		
R. J. Wesley	. 86		23		223		13		17.15
M. Iqbal	. 160.1		29		592		30		19.73
I. Ross			12		262		10		26.20

#### WELLINGTON COLLEGE

A team of all-round ability, in which seven batsmen played innings of more than 60, performed admirably after recovering from the shock of losing the first two matches. The old colours, Yeldham, Robertson, Pavey and Stephenson, all did well, and among the wins was one by 15 runs against Eton.

Played 14, Won 4, Lost 3, Drawn 7

Batting									
parties of the same of the sam	Innings	No	ot out	S	Runs	Hig	hest in	ins.	Average
R. J. B. Yeldham	. 14		3		365		74*		33.18
J. M. Pavey			2		362		74*		30.16
J. R. G. Stephenson			3		225		63		30.13
M. F. de Vries			0		378		94		27.00
M. J. Neale			0		194		68		24.25
W. D. Robertson			0		328		71		23.42
T. A. Soutry			2		212		67		19.27
R. C. G. Fortin			1		181		34		13.92
R. C. G. I OITH		•							
Bowling									
DOWLING	Overs	M	aiden	9	Runs	V	Vicket	9	Average
W D Doboutson		141	64	-	442		26		17.00
W. D. Robertson									
J. R. G. Stephenson			42		614		34		18.05
D. T. Adams	166.3		38		516		25		20.64
» m T 1	00	TO BE	18		356		16		22.25
P. T. Johnson	. 50		10		330		10		22.20

# WELLINGTON SCHOOL, SOMERSET

Played 15, Won 7, Lost 3, Drawn 5

Batting									
Datting	Innings	N	ot out	te	Runs	Hie	hest in	nns.	Average
F. Mawji			2		335		77		25.76
			2						
D. Russell			2		207		44		17.25
D. Bromfield	. 13		1		108		39		16.50
J. B. Byas			1		213		42		16.38
W. Painter			2		196		41		16.33
	. 17		4		170		71		10.55
Bowling									
	Overs	M	aiden	S	Runs	V	Vicket	S	Average
Bowling	Overs			s		V	Vicket 18	s	Average 8.22
Bowling F. Mawji	Overs . 60		12		148	v	18	s	8.22
Bowling F. Mawji	Overs . 60 . 208		12 40		148 524		18 50	s 	8.22 10.48
Bowling F. Mawji	Overs . 60 . 208 . 95		12 40 15		148 524 273		18 50 22	s 	8.22 10.48 12.40
Bowling F. Mawji	Overs . 60 . 208 . 95		12 40		148 524		18 50	s	8.22 10.48

#### WESTMINSTER SCHOOL

Spry, the captain of whom much was hoped as a left-handed batsman and off-break bowler, had a disappointing season, and his team lacked confidence in themselves. Lewis, next year's captain, alone scored consistently, and except in the case of the fast-medium Wakely the bowling was no more than steady.

Played 14, Won 1, Lost 8, Drawn 5

Batting	.,	,, ,,,	, -							
	Innings	No	t out	S	Runs	Hig	hest in	ns.	Average	
G. A. Lewis	13		3		468		107*		46.80	
F. H. I. Rahimtoola	11		5		146		40*		24.33	
C. de Peyor	14		1		342		69		26.30	
†R. G. M. Spry	14		2		226		70*		18.83	
A. Naylor-Smith	12		1		207		42		18.81	
G. R. Poole	12		0		174		37		14.50	
A. G. Cheyne	8		0		104		58		13.00	
Bowling					_					
	Overs	Ma	aiden	S	Runs	1	Wickets		Average	
K. G. Wakely	225.2		26		430		27		15.92	
R. G. M. Spry	79		2		315		15		21.00	

Public School Cricket
-----------------------

#### WHITGIFT SCHOOL

Played 14, Won 2, Lost 5, Drav	vn 7	7
--------------------------------	------	---

	,,,,,	""	, -	00. 0	,							
Batting	Total Notes Design III and											
	Innings	N	ot out	S	Runs	Hig	hest in	ns.	Average			
†D. Evans	12		2		393		94		39.30			
D. Mills	14		1		324		80*		24.92			
A. M. Osborne	14		0		324		85		23.14			
P. A. Beattie	9		1		130		44*		16.25			
J. M. H. Kelly	11		2		116		28*		12.88			
R. J. Bence	11		0		129		28		11.72			
B. A. W. Finch	14		1		147		37		11.30			
Bowling												
Downing	Overs	M	aiden		Runs	V	Vickets	Se Se	Average			
D F		141	3		226		12		18.83			
D. Evans	42.5											
J. M. H. Kelly	171.3		45		513		29		17.68			
D. R. Steele	142.1		29		404		21		19.23			
J. B. Bowden	165		30		528		16		33.00			
U. D. Donach												

#### WINCHESTER COLLEGE

Though starting with only two members of the 1956 side, Winchester went through a second season unbeaten. The outstanding player was the Nawab of Pataudi with his 851 runs, and Jefferson was the find of the season. At 15 he made 135 in his first inter-school match. The bowling became more and more steady as the season progressed, and Charlton's leg-breaks were particularly successful against other schools. The side was well led by Dunlop. Four out of five inter-school matches were won.

#### Played 16, Won 6, Lost 0, Drawn 10

Batting									
	Innings	N	ot ou	ts	Runs	Hig	shest in	ıns.	Average
Nawab of Pataudi	. 18		5		851		127*		65.46
J. F. Charlton			6		136		52*		45.33
			3		59		45*		29.50
†D. W. S. Dunlop			1		376		135		28.92
R. I. Jefferson			1				47*		27.00
P. J. L. Wright			4		162				
V. A. L. Powell	. 12		2		243		50		24.30
J. C. D. Townsend	. 17		1		354		94		22.12
J. D. T. Greenall			1		336		56*		19.76
M. A. P. S. Downham.			1		296		82		19.73
			3		208		41		18.90
D. R. Woolley	. 14	• •	3		200		-11		
Bowling									A
	Overs	M	aiden	S	Runs	1	Vickets		Average
R. I. Jefferson	. 84		30		158		16		9.87
D. W. S. Dunlop			42		455		24		18.95
J. F. Charlton			27	4	685		35		19.57
			31		469		23		20.39
J. R. Dinwiddy		• •					10		31.20
Nawab of Pataudi	. 87.3		21		312		10		21.20

# WORCESTER ROYAL GRAMMAR SCHOOL

A young side performed creditably throughout the season. Dinsdale, a newcomer, bowled accurately and well merited his 68 wickets. He was ably supported behind the stumps by Elliott, also in his first season, whose victims numbered 28.

Played 18, Won 9, Lost 5, Drawn 4

Batting	Innings	Not ou	its	Runs	Hig	hest in	ns.	Average
M. H. Sobey	16	1		349		74		23.26
S. D. Fudger	15	1		273		71		19.50
E. J. Pearce	10	1		128		38		14.22
C. G. Clarke	15	1		161		32		11.50
J. W. Elliott	15	2		139		45*		10.69
Bowling								
Bonzalo	Overs	Maide	ns	Runs	V	Vickets	3	Average
B. V. Dinsdale	323	108		-583		68		8.72
†A. P. Mobbs	141.4	20		413		36		11.47
B. Hodson	71.4	17		191		13		14.69
M. D. Hawkins	204.1	50		462		23		20.08

#### WORKSOP COLLEGE

The loss of their captain, the all-rounder Sykes, for seven matches and of an opening bowler for 12, unsettled the side. Walter, who made a century against Repton, and Swinney batted well, as did Sykes on his return. Walter shared seven opening partnerships of over 50. Barber, the leading bowler, was well supported.

#### Played 17, Won 4, Lost 5, Drawn 8

Batting									
	Innings	No	ot out	S	Runs	Hig	hest ir	nns.	Average
†W. G. D. Sykes			4		275		59*		45.83
	10		0		542		111		28.52
G. W. Walter	10		1		355		62		20.88
P. R. Swinney			1				59		19.63
M. K. Pasha	12		1		216				
D. B. Moody	17		0		307		52		18.05
J. M. Farrow	18		1		235		33		13.82
T. M. Turner			3		207		30		13.80
1. 141. 1 diffici									
D 1'									
Bowling	_	11			Runs	V	Vicket		Average
	Overs	IVI	aiden	S					17.66
W. G. D. Sykes			2		212		12		
T. G. W. Barber	187.5		33		560		28		20.00
I. B. A. Grieve			14		361		17		21.23
D. B. Moody		1	20		308	11.7	14		22.00
D. D. 14100dy	101								

#### WREKIN COLLEGE

Wrekin's batting was superior to their bowling, and Grenfell and Edwards each scored a good century.

## Played 14, Won 4, Lost 3, Drawn 7

Batting  †N. H. Grenfell  B. R. Edwards  J. J. White  C. L. Hartley  D. I. Robertson	Innings 15 15 13 12 14	No	ot out 4 3 0 2 1	ts  	Runs 456 423 311 229 256	Hig	thest ir 101* 118* 61 51 70	nns.	Average 41.45 35.25 23.92 22.90 19.69
Bowling  J. J. White W. W. Eaves J. H. E. Baldwin B. R. Edwards	Overs 135.5 191 171.1 53	M  	aiden 13 34 31 5	s  	Runs 388 565 482 201	v	Vickets 25 33 28 11		Average 15.52 17.12 17.21 18.27

#### WYCLIFFE COLLEGE

An exceptionally strong attack based on the fast-medium pace of Treadaway, the leg-breaks of Lewis and the left-arm slow bowling of Evans offset some disappointing batting.

Played 13, Won 6, Lost 4, Drawn 3

Batting									
	Innings	No	t out	S	Runs	Hig	hest in	ns.	Average
W. B. Gauntlett	13		3		229		86*		22.90
A. M. Porter	10		3		139		40*		19.85
D. W. Lewis	12		5		105		27*		15.00
N. J. Treadaway	12		1		153		47		13.90
A. M. Vaughan	13		0		172		46		13.23
†L. R. Drury	13		0		160		37		12.30
A. M. Parker	12		0		121		26		10.08
Bowling									
Downing	Overs	M	aiden	S	Runs	V	Vickets	3	Average
D. W. Lewis	103		25		299		32	120	9.34
N. J. Treadaway	149.3		40		285		30		9.50
D. A. Evans	114.5		33		268	Phillips	27		9.92
A. M. Porter	81.5		19		203		13		15.61
111 111 1 01101 11111111									

# PUBLIC SCHOOL MATCHES IN 1957

For Eton v. Harrow, Beaumont v. Oratory, Clifton v. Tonbridge, Rugby v. Marlborough, Cheltenham v. Haileybury, Southern Schools v. The Rest and Public Schools v. Combined Services, see Other Matches at Lord's.

# SHREWSBURY v. UPPINGHAM

At Shrewsbury, June 11, 12. Shrewsbury won by 18 runs. Except for a brief period on the first afternoon, the pitch gave little help to bowlers. Yet so rife were batting failures that forty wickets fell for an aggregate of 274 runs. Ker played pluckily in both innings for Shrewsbury, as did Kenyon for Uppingham.

Shrewsbury		
T. A. J. Nicholson b Waller	10 — b Thompson	12
D. P. Pearson b Thompson	4 — b Waller	1
D. L. Wright c Green b Thompson	0 — c Kenyon b Waller	0
A. J. Cordle c Gothard b Bulley	7 — b Waller	9
W. L. Ward c Raby b Usborne	1 — b Waller	8
A. J. Garden c Waller b Usborne		27
J. S. Ker b Thompson	7 — Ibw b Thompson	0
A. T. Macaulay b Thompson	2 — run out	2
H. G. Owen-Hughes c Gothard b Waller	3 — c Kenyon b Thompson	4
P. R. Hunt not out	0 — not out	1
Extras	10 Extras	8
		72
	74	12
Uppingham		
E. L. Gothard c Ward b Macaulay	11 — lbw b Owen-Hughes	3
H. Raby b Owen-Hughes	4 — c Holden b Macaulay	2
D. P. Green c Ker b Macaulay	/ — b Macaulay	32
C. M. Kenvon c Hunt b Holden	12 — c Holden b Owen-Hughes	0
J. L. Watson b Owen-Hughes	5 — b Owen-Hughes	14
M. S. Dorman c Holden b Owen-Hughes		0
P. C. Watson not out		3
J. W. Thompson c Hunt b Holden R. H. Bulley b Owen-Hughes		3
M. G. Waller c Macaulay b Owen-Hughes		0
A. C. Usborne b Holden	0 — c Holden b Macaulay	2
Extras	I Totale	10
	Zinti do Tito Tito Tito Tito Tito Tito Tito Tit	
L'Attus		74
Latius	54	74

# BRADFIELD v. RADLEY

At Bradfield, June 21, 22. Drawn. Missed first ball, Workman played splendidly when Bradfield followed on 177 behind and they easily saved the game. Stands of 127 by Morkill and Stevens and of 96 by Lane and Fuller-Sessions brought about a Radley recovery after the loss of four men for 22.

#### Radley

J. R. Russell b Workman 5 P. H. Raby b Workman 0 T. W. Morkill b Daubney 89 R. D. Freshman lbw b Workman 4 I. L. J. Stevens b Workman 38	R. A. Lane st Emberton b Daubney 64 D. J. H. Fisher not out
J. F. Fuller-Sessions c and b Thomas 38	277

# Bradfield

J. F. Anday 1011 Out 38	— not out
J. L. Davison C Russen b Wigley 3	
P. J. P. Eacersall b Lane. 9 J. H. George b Lane 5	— b Raby
P. J. H. Daubney b Lane	
T. A. N. Woof lbw b Wigley 12	
H. A. S. Reid lbw b Lane 10	— st Aspinall b Stevens 44
E. N. Thomas not out	
M. J. Angold b Morkill 0	
Extras	Extras 12
100	(3 wkts.) 266

## WESTMINSTER v. LANCING

At Vincent Square, June 22. Lancing, superior all round, won by 156 runs.

#### Lancing

J. W. Bridge lbw b Wareley 14	Extras 6
G. J. Sharman not out121	
T. J. Goodwin c Cheyne b Harrison 42	W d lengted a velocity result of _
N. H. S. Evans c Cheyne b Spry 99	(3 wkts., dec.) 282

G. C. Herbert, G. Davies, C. J. Saunders, J. C. W. Burrough, A. P. McCutcheon J. T. P. Crowe and C. J. Hale did not bat.

# Westminster

G. R. Poole b Sharman	K. G. Warely c Saunders b Goodwin 2 P. C. Medawar b Sharman. 0 D. V. Harrison not out 0 R. H. Bailey b Sharman 0 Extras 10
-----------------------	--

# HARROW v. CHARTERHOUSE

At Harrow, June 28, 29. Drawn. Harrow, needing 229 to win, played defensive cricket till the last hour when Foster scored with some freedom. Comer and Allom batted well for Charterhouse, and in the first Harrow innings Murray took five wickets for 25 runs.

#### Charterhouse

65 — b Champniss 30
0 — st Cable b Faith 24
12 — lbw b Champniss 5
4 — b Weedon 5
19 — not out 79
0 — lbw b Weedon 4
27 — c Cable b Weedon 0
12 — b Weedon 3
13 — not out 1
8 — Ibw b Champniss 19
1
27 Extras 9
188 (8 wkts., dec.) 179

D. R. J. Foster c Craig b Allom L. J. Champniss c Ullman b Gross P. W. Faith lbw b Allom R. S. Raper b Murray	0 — run out
1	39 (7 wkts.) 209

# WINCHESTER v. ETON

At Winchester, June 28, 29. Drawn. Set 156 to get in an hour and a half, Eton did not attempt the task. Winchester began by losing half their wickets for 67. Then Jefferson and Woolley began a recovery by adding 57 and Wright and Charlton hit freely in an eighth wicket stand of 68. Eton batted carefully but consistently, but not till the last pair were together did they establish a lead of 10 runs. Charlton bowled leg-breaks cleverly. Efforts to force the pace cost Winchester wickets in the second innings, but an unbroken partnership of 76 by Woolley and Wright enabled them to declare. Woolley and Wright enabled them to declare.

# Windhostor

Winchester		
J. D. T. Greenall lbw b Ayer	24 —	c Baskervyle-Clegg b Burrows 4
J. C. D. Townsend c Baskervyle-Clegg b		
Burrows	6 —	b Fellowes
Nawab of Pataudi c Baskervyle-Clegg b		T T
Ayer	0 —	c Dunning b Fellowes 38
R. I. Jefferson lbw b Dunning		c Lane Fox b Fellowes 15
V. A. L. Powell b Burrows	21 —	run out 12
M. A. P. S. Downham c Baskervyle-Clegg		B 1 1 Cl 1 E-11 0
b Burrows		c Baskervyle-Clegg b Fellowes 0
D. R. Woolley b Ayer		not out
J. F. Charlton c Lane Fox b Burrows		c Baskervyle-Clegg b Scott 0
P. J. L. Wright not out		not out 47
D. W. S. Dunlop b Fellowes	10	
J. R. Dinwiddy b Scott	4	B 12, 1-b 1, w 1, n-b 2 . 16
W 1, n-b 3	4	B 12, 1-0 1, w 1, 11-0 2 . 10
1/10 2/20 2/20 4/65 5/67 6/124	222	1/7 2/62 (7 wkts., dec.) 165
1/15 2/20 3/35 1/03 2/01 0/12.	444	3/66 4/87 5/87 6/88 7/89
7/124 8/192 9/221		3/00 4/87 3/87 0/88 7/89
		3/00 4/87 3/87 0/00 7/09
Eton	42 —	and the second s
Eton W. G. A. Clegg c Charlton b Dunlop	42 — 17 —	c Greenall b Pataudi 21
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop	17 —	c Greenall b Pataudi 21 not out 22 b Charlton 4
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop	17 —	c Greenall b Pataudi 21 not out 22
Eton  W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson	17 — 0 — 45 —	c Greenall b Pataudi
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton	17 — 0 — 45 — 30	c Greenall b Pataudi
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton	17 — 0 — 45 — 30 30	c Greenall b Pataudi
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton W. F. Goodier c Powell b Charlton	17 — 0 — 45 — 30 30	c Greenall b Pataudi
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton W. F. Goodier c Powell b Charlton R. Fellowes st Wright b Charlton	17 — 0 — 45 — 30 30 33 0 2	c Greenall b Pataudi
Eton  W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton W. F. Goodier c Powell b Charlton R. Fellowes st Wright b Charlton E. J. R. Scott c Powell b Charlton	17 — 0 — 45 — 30 30 33 0	c Greenall b Pataudi
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton W. F. Goodier c Powell b Charlton R. Fellowes st Wright b Charlton E. J. R. Scott c Powell b Charlton M. L. Dunning lbw b Dinwiddy J. D. Aver not out	17 — 0 — 45 — 30 30 33 0 2 13 9	c Greenall b Pataudi 21 not out 22 b Charlton 4 not out 10
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton W. F. Goodier c Powell b Charlton R. Fellowes st Wright b Charlton E. J. R. Scott c Powell b Charlton M. L. Dunning lbw b Dinwiddy J. D. Aver not out	17 — 0 — 45 — 30 30 33 0 2 13 9	c Greenall b Pataudi
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton W. F. Goodier c Powell b Charlton R. Fellowes st Wright b Charlton E. J. R. Scott c Powell b Charlton M. L. Dunning lbw b Dinwiddy J. D. Ayer not out B 5, 1-b 5, n-b 1	17 — 0 — 45 — 30 30 33 0 2 13 9 11	c Greenall b Pataudi 21 not out 22 b Charlton 4 not out 10
Eton  W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton W. F. Goodier c Powell b Charlton R. Fellowes st Wright b Charlton E. J. R. Scott c Powell b Charlton E. J. R. Scott c Powell b Charlton M. L. Dunning lbw b Dinwiddy J. D. Ayer not out B 5, 1-b 5, n-b 1  1/62 2/62 3/71 4/134 5/144 6/203	17 — 0 — 45 — 30 30 33 0 2 13 9	c Greenall b Pataudi 21 not out 22 b Charlton 4 not out 10
Eton W. G. A. Clegg c Charlton b Dunlop J. Baskervyle-Clegg b Dunlop E. J. Lane Fox c Wright b Dunlop J. W. Leonard c Wright b Jefferson A. R. B. Burrows b Charlton P. Baring c Woolley b Charlton W. F. Goodier c Powell b Charlton R. Fellowes st Wright b Charlton E. J. R. Scott c Powell b Charlton M. L. Dunning lbw b Dinwiddy J. D. Ayer not out B 5, 1-b 5, n-b 1	17 — 0 — 45 — 30 30 33 0 2 13 9 11	c Greenall b Pataudi 21 not out 22 b Charlton 4 not out 10

Public	School	Cricket	in	1957
1 mone	Denout	Citati	un	1/0/

# **Eton Bowling**

	0.	M.	R.	W.	Ο.	M.	R	XX
Burrows	16	2	53	4	 15	6	36	1
Scott	15.4	2	41	1	 22	5	53	1
Ayer	12	2	56	3	3	1	6	1
Fellowes	9	5	17	1	19	8	30	0
Lane Fox	11	2	35	Ô	4	1	10	4
Dunning	5	ō	16	1	1	Ô	5	0
							3	U

# Winchester Bowling

Jefferson	19	5	20	1	 5	2	6
Dinwiddy	20	6	39	1	 6	2	14
Dunlop	22	2	65	3	 2	0	13
Charlton	31	8	71	5	 8	1	13
Pataudi	7	1	23	0	 4	1	11
Townsend	2	0	3	0			

Umpires: W. Harrington and R. B. Hunt.

# REPTON v. MALVERN

At Repton, July 2, 3. Drawn. Set 210 to get to win, Malvern broke down badly after a fair start and narrowly avoided defeat.

# Repton

C. A. Fry c Wilcox b Sat 36 — c French b Jagger	1
H. Everard lbw b Naumann 11 — lbw b Devereux	2
C. S. Warner c Wilcox b Sat 29 — b Jagger	48
P. H. Vaughan c Wilcox b Naumann 23 — c Bailey b Jagger.	48
B. J. Hare b Naumann 0 — c Wilcox b Jagger	12
R. F. Gresley c Naumann b Bailey 44 — lbw b Sat	
D. C. M. Vaughan c Preston-Jones b	
Henman 12 — b Sat	0
C.R. Pilkington b Jagger 6 — not out	6
A. W. Allen run out	
G. W. L. Foster not out 0	
J. J. W. Tomlinson st French b Henman. 8	
Extras 34 Extras	11
227 (7 wkt	s., dec.) 147

#### Malvern

J. M. Davies c Fry b Foster I. D. Preston-Jones c and b Tomlinson R. J. Devereux b Foster	. 9	b Pilkington	14
J. W. T. Wilcox b Pilkington	. 17	— b Foster	34
T. R. G. Carter st Fry b Allen M. K. S. Sat c Vaughan b Allen			
P. G. Jagger c Fry b Pilkington	. 44	— not out	5
H. J. Bailey c Foster b Allen			
N. C. Naumann not out			
A. J. S. Henman run out Extras		Extras	10
	165	(8 wkts.)	-

# WORKSOP v. DENSTONE

At Worksop, July 3. Worksop won by four wickets. Sykes took five Denstone wickets for 41 runs.

#### Denstone

A. C. Illingworth c Little b Barber J. L. Foster b Sykes T. A. Peake lbw b Farrow T. H. Melrose run out R. H. Lees b Sykes S. H. Barnes lbw b Sykes J. A. Norris b Swinney	23 14 22 13 5	P. J. Hoddell not out J. C. Standerwick c Walter b Sykes G. E. Sweet c Sykes b Pasha R. A. Harrison b Sykes  Extras	5 0 7
Worksop			
n n Mandy a Factor h Harrison	12 1	I P Dugdale not out	8

D. B. Moody c Foster b Harrison. 12   I. R. Dugdale not out	
R. W. Walter c Peake b Standerwick 51 M. K. Pasha not out	1/
J. M. Turner c Barnes b Norris 3 Extras	10
W. G. D. Sykes b Harrison 26	
P. R. Swinney c and b Standerwick 21	-
I. K. Swiffing & tand & Standard Wien	(( -1-4- ) 151
J.M. Farrow c Peake b Standerwick 3	(6 wkts.) 151

J. B. Scott, T. B. Little and T. G. W. Barber did not bat.

# HAILEYBURY v. UPPINGHAM

At Haileybury, July 5, 6. Haileybury won by seven runs. Fine bowling by Waller (nine wickets for 44) and good batting by Raby enabled Uppingham to gain a first innings lead of 87, but Haileybury recovered and gained an exciting victory in the last over of the game.

# Haileybury

M. Higginbottom c P. C. Watson b Phillips 25 D. Moeller lbw b Waller 0 P. J. Parsons c Gothard b Waller 0 D. H. Crichton b Waller 36 I. A. McDonald c Kenyon b Waller 36 I. N. Smith b Waller 3 A. G. Roberts lbw b Waller 0 C. J. Ledger b Waller 12 J. E. Denison c Kenyon b Waller 2 R. W. Golding not out 2	- c Gothard b Usborne
92	190

Uppingham			
E. L. Gothard b Roberts	. 1	— b Parsons	6
H. Raby c Smith b Parsons		2 — c Higginbottom b Parsons 2	
D. P. Green b Roberts		4 — b Roberts	
C. M. Kenyon b Roberts		2 — lbw b Lofting	
J. L. Watson c Higginbottom b Lofting		— c McDonald b Smith	
M. S. Dorman b Parsons		5 — lbw b Parsons	
P. C. Watson b Roberts		— c and b Smith	
J. W. Thompson not out		2 — c Moeller b Smith	3
I. G. Phillips not out		6 — not out	1
A. C. Usborne (did not bat)		— C Golding & Larsons	0
M. G. Waller (did not bat)		— Ibw b Smith	0
Extras	9	Extras	4
	-		_
	179	)	02

